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NEW QUESTION 1
- (Exam Topic 3)

A newly installed spoke router is configured for DMVPN with the ip mtu 1400 command. Which configuration allows the spoke to use fragmentation with the
maximum negotiated TCP MTU over GRE?

A. ip tcp adjust-mss 1360crypto ipsec fragmentation after-encryption
B. ip tcp adjust-mtu 1360crypto ipsec fragmentation after-encryption
C. ip tcp adjust-mss 1360crypto ipsec fragmentation mtu-discovery
D. ip tcp adjust-mtu 1360crypto ipsec fragmentation mtu-discovery

Answer: A

Explanation:

https://www.cisco.com/c/en/us/support/docs/security/dynamic-multipoint-vpn-dmvpn/111976-dmvpn-troublesh

NEW QUESTION 2
- (Exam Topic 3)
Refer to the exhibit.
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The Customer Edge router (AS 65500) wants to use ASC100 as the preferred ISP for all external routes.

Customer Edge
route-map SETLP

set localspreference 111
|

router bgp 65500

neighbor 192.168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP out
neighbor 192 168.112.2 remote-as 200

This configuration failed to send routes to AS 100 as the preferred path. Which set of configuration resolves the issue?

route-map SETLP
et local-preference 111
|

router bgp 65500
neighbeor 182.168.111.1 remote-as 100
rneighbor 192.168.111.1 route-map SETLP out

route-map SETLP
sat local-preference 111
|

router bgp 55500
reighbor 1892.168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP in

route-map SETFP
set as-path prepend 111 111
!

router bgp 65500
neighbor 192.168.111.1 remote-as 100
neighbor 182.168.111.1 route-map SETPP ouwt

route-map SETPP
set as-path prepend 100 100
]

router bgp 65500
naighbor 192.168.111.1 remote-as 100
neighbor 192,168.111.1 route-map SETPP in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 3
- (Exam Topic 3)
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An engineer notices that R1 does not hold enough log messages to Identity the root cause during troubleshooting Which command resolves this issue?

A. #logging buffered 4096 critical

B. (config)#logging buffered 16000 informational
C. #logging buffered 16000 critical

D. (config)#logging buffered 4096 informational

Answer: B

NEW QUESTION 4
- (Exam Topic 3)
Which technique removes the outermost label of an MPLS-tagged packet before the packet is forwarded to an adjacent LER?

A. label swap

B. explicit-null

C. label imposition
D. PHP

Answer: D

NEW QUESTION 5
- (Exam Topic 3)

Refer to the exhibit.
e ————n— — — -

R1#

router ospf 1

redistribute rip subnets

network 131.108.1.0 0.8.0.255 area 2
network 131.108.2.0 0.0.0.255 area 2
distribute-list 1 out

|

access-list 1 permit 132.108.4.90 8.0.0.255

The R1 OSPF neighbor is not receiving type 5 external LSAs for 132.108.2.0/24 and 132.108.3.0/24 networks. Which configuration command resolves the issue?

A. access-list 1 permit 132.108.0.0 0.0.1.255
B. access-list 1 permit 132.108.0.0 0.0.3.255
C. access-list 1 permit 132.108.2.0 0.0.0.255
D. access-list 1 permit 132.108.4.0 0.0.3.255

Answer: B
NEW QUESTION 6

- (Exam Topic 3)
Refer to the exhibit.

H1#show ip interface GigabitEthernet0/0 | include drops
) verification drops

1 suppressedverincation drops

H1#show ip interface GigabitEthernet0/1 | include drops

5 verfication drops

0 suppressedverification drops

R1 is configured with uRPF, and ping to R1 is failing from a source present in the R1 routing table via the GigatxtEthernet 0/0 interface. Which action resolves the
issue?

A. Remove the access list from the interface GigabrtEthernet 0/0

B. Modify the uRPF mode from strict to loose

C. Enable Cisco Express Forwarding to ensure that uRPF is functioning correctly

D. Add a floating static route to the source on R1 to the GigabitEthernet 0/1 interface
Answer: B

NEW QUESTION 7
- (Exam Topic 3)
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Acme com Group

RTG- 1jconfigsip vri CompanyA

RTG: jconfig-vrf)® interface GigakitEthernet /0
RTG- liconfig-i# ip wif forwarding CompanyA
RTG-1|config-if# ip address 172 96.2.2 255 255 255.0

Refer to the exhibit. An engineer must configure a per VRF for TACACS+ for company A. Which configuration on RTG-1 accomplishes the task?

aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172.16.1.1 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/0
ip vrf forwarding CompanyA

aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172.16.1.3 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/1
ip vrf forwarding CompanyA

aaa new-modal

aaa group server tacacs+ Tacacscluster
sarver-private 172.16.1.1 port 49 key routing
Ip tacacs source-interface GigabitEthernat 01
ip vrf CompanyA

aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172,16.1.3 port 49 key routing
ip tacacs source-interface GigabitEtherneat 0/0
ip vrf CompanyA

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 8
- (Exam Topic 3)

A newly Installeo router starts establishing an LDP session from another MPLS router to which it is not directly connected. Which LDP message type responds by

target router to the Initiating router using UDP protocol?

A. notification message

B. session message

C. extended discovery message
D. advertisement message

Answer: C

NEW QUESTION 9

- (Exam Topic 3)

What is an MPLS LDP targeted session?

A. session between neighbors that are connected no more than one hop away
B. LDP session established between LSRs by exchanging TCP hello packets
C. label distribution session between non-directly connected neighbors

D. LDP session established by exchanging multicast hello packets

Answer: C

NEW QUESTION 10
- (Exam Topic 3)

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM 300-410 Dumps From Exambible
exam blbk—.‘ https://www.exambible.com/300-410-exam/ (530 Q&AS)

Refer to the exhibit Which action resolves the issue?

A. Configure host IP address in access-list 16
B. Configure SNMPv3 on the router

C. Configure SNMP authentication on the router
D. Configure a valid SNMP community string

Answer: D

NEW QUESTION 10
- (Exam Topic 3)
Refer to the exhibit.
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During ISP router maintenance, the network produced many alerts because of the flapping interface. Which configuration on R1 resolves the issue?
A. no snmp trap link-status

B. snmp trap link-status down

C. snmp trap ip verify drop-rate

D. ip verify drop-rate notify hold-down 60

Answer: D

NEW QUESTION 15

- (Exam Topic 3)

Rl¥show running-config | begin router eigrp Ribtracercute 172.16.3.1

router eigrp 100 Type escape sequence to abort
network 172 16.250.0 0.0.0.2585 Tracing the route to 172.16.3.1
rodistribute ospf 1 metric 1 1 1 11 VAF info: (vrf in name/id, vrf out name/id
' 1 192.168, 250, 9 66 maec
router ospf 1 192 .168.250 .6 € msec
redistribute eigrp 100 subnets 1%2.168.250.9 § maec
network 192.168.250.0 0.0.0.255 area 0 2 172.16.250.2 313 msac

172.16.2530.14 BR maec

Ribshow runn | begin router eigrp 172.16.250.2 11 msec
reuter eigrp 100 - |

network 172.16.250.0 0.0.0.235
redistribute ospf 1 metric 11 11 1

[ ]

router capf 1

rodistribute eigrp 100 subnets
network 192.168.250.0 0.0.0.255 area 0

ip forward-protocel nd

172.16.25%0.0 / 30 e 192.168. 25%0.4 f 30

172.16.3.0 / 30 /~\ 192.168.5.0 /30

>

1%2.168.2%0 .8 / 30

172.16.2%0.12 [ 30

Refer to the exhibit. An engineer Is troubleshooting a routing loop on the network to reach the 172.16.3.0/16 from the OSPF domain. Which configuration on router
R1 resolves the Issue?
A)
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router ospf 1

redistribute eigrp 100 subnets route-map LOOPFILT
i

route-map LOOPFILT deny 10

match ip address 15
i

route-map LOOPFILT permit 20
I

access-list 15 permit 172.16.0.0 0.0.255.255
B)

router eigrp 100
redistribute ospf 1 metric 111 1 1 route-map LOOPFILT

route-map LOOPFILT deny 10
match ip address 15

route-map LOOPFILT permit 20

access-list 15 permit 172.16.0.0 0.0.255.255

C)
router ospf 1
redistribute eigrp 100 route-map LOOPFILT

route-map LOOPFILT deny 10

match ip address 15
|

access-list 15 permit 172.16.0.0 0.0.255.255
D)

router eigrp 100
redistribute ospf 1 metric 1111 1 route-map LOOPFILT

route-map LOOPFILT deny 10

match ip address 15
|

access-list 15 permit 172.16.0.0 0.0.255.255

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 17
- (Exam Topic 3)
What is a function of IPv6 Source Guard?

A. It works with address glean or ND to find existing addresses.
B. It inspects ND and DHCP packets to build an address binding table.
C. It denies traffic from known sources and allocated addresses.
D. It notifies the ND protocol to inform hosts if the traffic is denied by it.

Answer: A

Explanation:

IPv6 source guard is an interface feature between the populated binding table and data traffic filtering. This feature enables the device to deny traffic when it is
originated from an address that is not stored in the binding table. IPv6 source guard does not inspect ND or DHCP packets;rather, it works in conjunction with IPv6
neighbor discovery (ND) inspection or IPv6 address glean, both of which detect existing addresses on the link and store them into the binding table.

NEW QUESTION 21
- (Exam Topic 3)
Refer to the exhibit.

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM 300-410 Dumps From Exambible
exam blbk—.‘ https://www.exambible.com/300-410-exam/ (530 Q&AS)

"l ‘l 208165 200225/ " ] YA
__J__—- M gyl
i fk 2t { o ’ = 203,165, 200.5/30 im
— w0 — . )

| 10,66 6566 :_5 Kl

| -
An engineer configured IP SLA on R1 to avoid the ISP link flapping problem. but it is not working as designed IP SLA should wait 30 seconds before switching
traffic to a secondary connection and then revert to the primary link after waning 20 seconds, when the primary link is available and stabilized. Which configuration
resolves the issue?

A. R1(config)#ip sla 700R1(config-ip-sla)#delay down 30 up 20
B. R1(config)#ip sla 700R1(config-ip-sla)#delay down 20 up 30
C. R1(config)#track 700 ip sla 700R1(config-track)#delay down 30 up 20
D. R1(config)#track 700 ip sla 700R1(config-track)#delay down 20 up 30

Answer: C

Explanation:
“wait 30 seconds before switching traffic to a secondary connection” -> delay down 30 “then revert to the primary link after waiting 20 seconds” -> up 20
Under the track object, you can specify delays so we have to configure delay under “track 700 ip sla 700" (not under “ip sla 700").

NEW QUESTION 26
- (Exam Topic 3)
What are the two prerequisites to enable BFD on Cisco routers? (Choose two)

A. A supported IP routing protocol must be configured on the participating routers.

B. OSPF Demand Circuit must run BFD on all participating routers.

C. ICMP must be allowed on all participating routers.

D. UDP port 1985 must be allowed on all participating routers.

E. Cisco Express Forwarding and IP Routing must be enabled on all participating routers.

Answer: CE

NEW QUESTION 30
- (Exam Topic 3)
Refer to the exhibit.

*17:.40:07.826: AAASBINDYOOOOOOSS): Bind i/t

*17:A0:07.826: AAASAUTHEMN/LOGIN (00000055): Pick method list ‘default’
*17:40:07.826: TPLUS: Queuing AAA Authentication request 85 for processing
17:40:07.826: TPLUS: TPLUS[ODDODDSS) login timer started 1020 sec timeoul
*17:40:07 826: TPLUS: processing authentication start request id 85

174007 8268: TPLUS, Authentication start packet created for 85{)

“17:40:07.826: Using server 10.106.60.182

*17:40:07.826: TPLUS000000S5)0/ME WALT/225FE2DC: Started 5 sec timeout
17 A007.830: TPLUSOOODOOSS),0/ME_WAIT: socket event 2

STR40:07.830: TPLUS0000055)/0/NEB_WAIT: wrote entire 38 bytes reguest
174007 830: TPLUS{0000O055)/0/READ: sockel event 1

“17:40:07.830: TPLUSO00M0055) 0/READ: Would block while reading
*17:40:07.886: TPLUS(00000055)/0/READ: socket event 1

“17:40:07.886: TPLUS00000055)/0/READ: read entire 12 header bytes (expect 6 bytes data)
*17:40:07.886; TPLUSOOOMO0S5WO/READ: socket event 1

*17:40:07.886: TPLUS{00000055)/0/READ: read entire 18 bytes response
"17:40:07.886: TPLUS(000R0055)/0/225FE2DC: Processing the reply packet
*17:40:07.886: TPLUS: received bad AUTHEN packet: length = &, expected 43974
*17:40:07.886: TPLUS: Invalid AUTHEM packet (check keys).

An engineer is troubleshooting a TACACS problem. Which action resolves the issue?
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A. Configure a matching TACACS server IP.

B. Configure a matching preshared key.

C. Generate authentication from a relative source interface.
D. Apply a configured AAA profile to the VTY.

Answer: B

Explanation:

Reference:

https://community.cisco.com/t5/network-access-control/issues-with-tacacs-authentication/td-p/3412001 The last line shows us the reason, which is “Invalid
AUTHEN packet (check keys)” so the most likely

cause of this problem is key mismatch.

NEW QUESTION 32

- (Exam Topic 3)

An engineer is creating a policy that overrides normal routing behavior.if the route to a destination of 10.100.100.0/24 is withdrawn from the routing
Table, the policy must direct traffic to a next hop of 10.1 1.1. if the route is present in the routing table, then normal forwarding must occur. Which
configuration meets the requirements?

A. access-list 100 permit ip any any'route-map POLICY permit 10 match ip address 100set ip next-hop recursive 10.1.1.1

B. access-list 100 permit ip any 10.100.100.0 0.0.0.255!Route-map POLICY permit 10 match ip address 100set ip default next-hop 10.1.1.1

C. access-list 100 permit ip any 10.100.100.0 0.0.0.255!route-map POLICY permit 10 match ip address 100set ip next-hop 10.1.1.1!route map POLICY permit 20
D. access-list 100 permit ip any 10.100.100.0 0.0.0.255!route map POLICY permit 10 match ip address 100Set ip next-hop recursive 10.1.1.1!route-map POLICY
permit 20

Answer: D

NEW QUESTION 35
- (Exam Topic 3)

Rl (config) #interface GigabitEthernet 0/0
Rl (config-if)#ip address 10.10.10.10 255.255.255.252
Rl (config-if)gospfv3 1 ipvd area 0

R2 (config) #interface GigabitEthernet 0/0

R2 (config-if)#ip address 10.10.10.11 255.255.255.252
R2 (config-if) #ospfv3 10 ipv4d area 0

R2 (config-if) #ospfv3 network broadcast

Refer to the exhibit An engineer is troubleshooting an OSPF adjacency issue between directly connected routers R1 and R2 Which configuration resolves the
issue?
A)

R1(config)#interface GigabitEthernet 0/0
R1(config-if)j=ospfvd network broadcast
B)

RZ(config #interface GigabitEthernet 0/0
RZ(conhg-if)=ip address 10.10.10.9 2565.2565.255.2562
C)

R1(config)#interface GigabitEthernet 0/0
R1(config-f)zospfvd 10 ipv4 area 0

D)

RZ2(config #¥interface GigabitEthernet 0/0
R2(config-if}#no ospfvd network broadcast

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 39
- (Exam Topic 3)
configuration on the hub router meets this requirement?

A. interface TunnelOtunnel mode gre multipoint
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B. interface TunnelO tunnel mode dvmrp
C. interface TunnelO tunnel mode ipsec ipv4
D. interface TunnelO tunnel mode ip

Answer: A

NEW QUESTION 41

- (Exam Topic 3)

A company Is redesigning WAN infrastructure so that all branch sites must communicate via the head office and the head office can directly communicate with
each site independently. The network engineer must configure the head office router by considering zero-touch technology when adding new sites in the same
WAN infrastructure. Which configuration must be applied to the head office router to meet this requirement?

interface Tunneld
tunnel mode ip
ip nhrp map multicast dynamic

interface Tunneld
tunnel mode dvmrp
ip nhrp redirect

interface Tunneld
tunnel mode ip
ip nhrp redirect

interface Tunneld
tunnel mode gre multipoint
ip nhrp map multicast dynamic

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 44

- (Exam Topic 3)
Refer to the exhibit.
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An engineer implemented CoPP to limit Telnet traffic to protect the router CPU. It was noticed that the Telnet traffic did not pass through CoPP Which configuration
resolves the issue?

policy-map COPP
class TELNET
police 8000 conform-aefien transmit oxceed-action transmit

spolicy-map COPP
class TELNET
police 8000 conform-action transmit exceed-action transmit violate-action drop

ip access-list extended TELNET
permit tep host 10.2.2.1 host 10.2.2 4 eq telnat
permit tcp host 10.1.1.1 host 10.1.1.3 eq telnet

ip access-list extendad TELNET
parmit tep host 10.2.2.4 host 10.2.2 1 g talnst
permit tcp host 10.1.1.3 host 10.1.1.1 eq telnet

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: D

NEW QUESTION 47
- (Exam Topic 3)

OSPF AREA D

EIGRP 100 i

h‘ = .Et Eth ﬁ ‘-‘ Eth En st
00 10 95 a& 00 090 ‘ O 10 94 AG OO0 O ﬁ

192 168 8 024

162 168 200 074

197 168 15 0724

TRlsshow route AR
route-map FROM->EIGRP, permit, seagquence 10
Match clauses:
ip address (access-lists): 10
Salt claunsnes:
Polioy routing matches: 0 packets, O bytes
Ri#show run | sec router
router elgrp 100
network 10.9%6.69.0 0.0.0.3
no anto-summary
elgrp router-id 1.1.1.1
router aspf 100
router-id 1.1.1.1
log-adjacency -changes
redistribute sigrp 100 subnets route-map FROM->EIGRP
network 10.9%.6%.0 0.0.0.3 area 0
Rl#show ip access-list
Standard IF acosss list 10
10 parmit 192.168.16.0, wildcard bits 0.0.3.255%
11 permit 19%2.168.0.0, wildcard bits 0.0.7.255

20 deny any

Refer to the exhibit The engineer configured route redistribution in the network but soon received reports that R2 cannot access 192 168 7 0/24 and 192 168 15

0/24 subnets Which configuration resolves the issue?

Rl {contfigq)fip acoess-list standard 10

Bl {config-std-nacl)fne 10 permit

El {config-std-nacl)fne 11 permit

El {config-std-nacl}#10 permit 15%2.168.0.0 0.0.3.
Bl {config-std-nacl)#1l permit 192,.1668.68.0 0.0.3.

2h%
255

Rl (config)#ip access-list standarcd 10
Rl (config-std-nacl) fnae 10 paermit
El (config-std-nacl)#no 11 permit

Kl {config-std-nacl) #10 permit 192.168.0.0 0.0.7.
Bl (config-std-nacl) #11 permit 19%2.168.8.0 0.0.3,

=]
o
n

=}
g}
on

[R1l(contig) fip acoess-list atandard 10

Bl {config-std-nacl)fne 10 permit

Bl {config-std-nacl)fne 11 permit

Bl {config-std-nacl}#10 permit 15%2,.168.0.0 0.0.3.

Rl{config-std-nacl)#ll permit 192 . 168.8.0 0.0.7.:

Rl (configl#ip access-list standard 10

Rl (config-std-nacl)#no 10 permit

El (config-std-nacl) #éno 11 permit

Bl (config-std-nacl) #10 permit 13%2.168.4.0 0.0.3,

255

Rl jconfig-std-nacl) #11 permit 192.168.12.0 0.0.3.255

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 51
- (Exam Topic 3)
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Dz 3610

Router CSR301.ap.com

Device Health

e |
ré#sh ip bgp 10.140.217.0/24

fsh ip bgp 10.140.217.0/24
, a Saik3

Refer to the exhibit. In Cuco DNA Center, a network engineer identifies that BGP-learned networks are repeatedly withdrawn from peers. Which configuration must
the engineer apply to resolve the Issue?
A)

router bgp 100
bgp graceful-restart

B)
router bgp 100
bgp dampening

C)
route-map Dampening permit 10
set dampening 15 750 2000 60
router bgp 100
neighbor 10.140.212.5 route-map Dampening in

D)

route-map Dampening permit 10

sel dampening 15 750 2000 60

router bgp 100

neighbor 10.140.212.5 route-map Dampening out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 56
- (Exam Topic 3)
Which protocol must be secured with MD-5 authentication across the MPLS cloud to prevent hackers from introducing bogus routers?

A. MP-BGP
B. LSP

C. RSVP
D. LDP
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Answer: A

NEW QUESTION 60

- (Exam Topic 3)

The network administrator configured the router for Control Plane Policing to limit OSPF traffic to be policed to 1 Mbps. Any traffic that exceeds this limit must also
be allowed at this point for traffic analysis. The router configuration is:

access-list 100 permit ospf any any

|

class-map CM-OSPF match access-group 100
|

policy-map PM-COPP class CM-OSPF

police 1000000 conform-action transmit
|

control-plane
service-policy output PM-COPP
The Control Plane Policing failed to monitor and police OSPF traffic. Which configuration resolves this issue?

ne access-ist 100
accesslist 100 permit top any any eg 179
access-list 100 permit ospf any amy
aceess-dist 101 parmit tep any any range 22 23
1
!
class-map CM-MGMT

na match access-group 100

match access-group 101
1

cantrol-plane
no service-policy eutput PM-COPP e
zenvice-palicy Input PM-COPP
Mo access-list 100
access-ist 100 permit tcp any any eq 178
access-list 100 permit tcp any any range eq 22
access-list 100 permit top any any range &g 23
access-dist 100 permit ospf any any
control-plane
ng senice-policy eutput PM-COPP
service-palicy input PM-COPP
no access-list 100
accessdist 100 permit tcp any any eg 178
access-list 100 permit ospf any amy
accessdist 101 permit top any any range 22 23
1
'
clage-map CM-MGMT
na match access-group 100
match aceess-group 101
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A
NEW QUESTION 65
- (Exam Topic 3)
192.168.1.1 192.168.1.2
&0/0 GO =
q== &
GO
10.15.1.100
RH1#

®Jan 1% 1%:4%:00.027: TPLUS: Quauinmg AM Authentication request 20 for
processing

*Jan 15 19:45:17.03]1: TPLUS: procassing authentication start request id 20
*Jan 15 19:45:17.031: TPIUS: Authentication start packet created for 20()
#Jan 15 19:45:17.031: TPLUS: Using server 172.20.32.1

*Jan 15 19%:4%:17.035: TPLUS(00000014) /0/NB WAIT/6B937TBR0: Started % sec
timeout

#Jan 15 19:45:22.035: TPLUS (00000014) /0/NB WAIT/6E93TRRO: timed out

*Jan 15 19:45:22.035: TPLUS (00000014) fO/NB WAIT/G893TBRO: timed out, clean
up )

#Jan 15 19%:4%:22_03%: TPLUS (00000D14) fO/6AITRBED: Processing the reply
prachon t

RZ#

R2Ftolnat 192.168.1.1

Trying 19%2.168.1.1 ... Opaen

% Authorizatlon falled

[Connection to 192.168.1.1 closed by foreign host]

Refer to the exhibit A network engineer is troubleshooting an AAA authentication issue for R1 from R2 When an engineer tries to open a telnet connection to R1 it
opens the connection but shows a %Authorization failed error message on the terminal and closes the connection silently Which action resolves the issue?

A. Resolve tacacs+ server host IP authentication miss configuration on the R1 router
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B. Resolve tacacs+ server reachability from the R1 router.
C. Configure the tacacs+ server host IP on the R1 router
D. Configure authorization commands in the tacacs* server for the R1 router.

Answer: D

NEW QUESTION 66

- (Exam Topic 3)
_—
Branch
Router B
$0/010
Net 196.1.0.024
Router A
RP CCNP
192.168.168.0724 m “:
pn:m CEHP
1 1 \-
192 16811 192 16812 192168 1.3 .
192, 168.1.0:24 Net 198.1.0.024
$0/0/0

A
RouterAldebug eigrp packets

(UPDATE, REQUEST, QUERY,K REFLY, HELLO UNFKNOWN, FROBE, ACK, STUB, SIAQUERY, SIAREFLY)
EIGRF Facket debugging 1s on
RouterAd
*Jan 14 16:39:24 927 EIGRF: Gil: ignored pachet from 192 168 168.2, opcode = 5 (missing
authentication)
*Jan 14 16:39:25.61%: EIGRP: Sending HELLD on Gil - paklen &0
*Jan 14 16:39:25 61§ AS 100, Flags 0Ox0: (NULL), Seq 0/0 interface( 0/0 iidbQ un/rely 0/0
RouterAl

Refer to the exhibit. The services at branch B are down. An engineer notices mal rouler A and router B are not exchanging any routes Which configuration resolves
the issue on router B?
A)
router eigrp 100
network 192.168.168.0

key chain CCNP
key 1
key-string EIGRP

interface serial0/0/0
Ip address 192.168.168.2 255.255.255.0
ip authentication mode eigrp 100 md5
ip authentication key-chain eigrp 100 EIGRP
negotiation auto

B)

router eigrp 100

network 192.168.168.0

key chain EIGRP
key 1
key-string CCNP

interface serial0/0/0
Iip address 192.168.168.2 255.255.255.0
ip authentication mode eigrp 100 md5
negotiation auto
C)
router eigrp 100
network 192.168.168.0

key chain EIGRP
key 1
key-string CCNP

interface serial0/0/0
ip address 192.168.168.2 255.255.255.0
ip authentication mode eigrp 100 md5
ip authentication key-chain eigrp 100 EIGRP
negotiation auto

D)
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router eigrp 100
network 192.168,168.0

key chain EIGRP
key 1
key-string CCNP

interface serial0/0/0

ip address 192.168.168.2 255.255.255.0
ip authentication key-chain eigrp 100 EIGRP

negotiation auto

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 71
- (Exam Topic 3)
F_zge_fg_r_go_;he exhibit.

An engineer configures SW101 to send OSPFv3 interfaces state change messages to the server. However, only some OSPFv3 errors are being recorded. which

organization resolves the ..?

A. snmp-server enable traps ospfv3 state-change if-state-change

B. snmp-server-enable traps ospfv3 state-change restart-status-change
C. snmp-server-enable traps ospfv3 state-change neighbor-state-change.
D. snmp-server-enable traps ospfv3 state-change if-state-change neighbor-state-change

Answer: D

NEW QUESTION 76
- (Exam Topic 3)
Refer to the exhibit.

Riwsnow runveng comby | sectan ospl

ip ol lanea |
iporspl e 1

e ¢pl 1

g adpcency £ranges

el | Stub ho- by

Fdshow ip oapl miertace bned

erace  PID Ama P Adiresahlast Cost Shite Mees FIC
Lo o1 wmem 1 Leep 00
Faln 1 m\mne 1 DR
Rishow runceng-contg intertace LasiEsterned )

Budging confgurston

Cuenini conhgurangn | 116 Bytes
|

nlaikace FasiEmemmead

i iR 000 40 1 255 2595 2% 242

ip mitd 1400

ip o1 e 1

duple

e

Reastshow ip 0apl nesgrbor

Heghter 10 P Staee Dead Time  ASEIS Iatermace
10001 ¢ ENSTARTEDR COO0T  W010103 FasiEtametin)

RYEAow furtunLonlg | ection oipl

Pt area o
P gl ama
P Gl 1
O-Mency-{hangis
B ) B A STy
Reshow ip cagl nderface bl

inferface P Ares  IPAMeashiast  Codl Sule  Nos FU

Led i [ 1000 iy} f
L0 | | 10100250 Fag 1

R msngw ponnng-conlg mbirtace Lk irmal 10
Butang conluraton

Cumenl (orlgaraticn 113 byl
i

rerlace FastEMmemet)
P ackess 1010102 4 3.2 2N
 odgl e !
hupitr 3t
B sy
£

RrYhom i cagh neghdor

LOOP 00
BOR 0

Nt 1) PA St Do Timse  AdOiels  Inerface

HAOWIRE 1 EXCHAMGEDR 000N

1010401 FastEmemettn
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Which action restores OSPF adjacency between R1 and R2?

A. Change the IP MTU of R1 Fal/0 to 1300
B. Change the IP MTU of R2 Fa0/0 to 1300
C. Change the IP MTU of R1 Fal/0 to 1500
D. Change the IP MTU of R2 Fa0/0 to 1500

Answer: D

NEW QUESTION 80
- (Exam Topic 3)

| T 7 TR
] | E: Communitins

Efy1 {enfa o Read Only : CiscOlls3e
| viam1o Read/Write : Ciscowruser
5 —
BMS Server
10.¥21.10.11

UsprSW2 Core_Swl

(A

e

UserawZi
accesselist 11 peynit 10.221.19.11
access-lisr 22 peffnir 10,221 10102

snmp-server group RETVIEW v3 priv read NETVIE'W access 11

snmpeserver group NETADMIN v3 poy read NETVIEW write METADMIM access 11
snmp-server community CiscOUls3r RO 11

ENMIp-ERTVET CommuniTy CrecOwnis3r R 11

Refer to the exhibit. An engineer configured SNMP Commimes on UserSW2 switch, but the SNMP server cannot upload modified configurations to the switch.

Which configuration resolves this issue?

A. snmp-server community Ciscowruser RW 11

B. snmp-server group NETADMIN v3 priv read NETVIEW write NETADMIN access 22
C. snmp-server community CiscOUs3r RW 11

D. snmp-server group NETVIEW v2c priv read NETVIEW access 11

Answer: A

NEW QUESTION 83
- (Exam Topic 3)

EIGRP 1 e ST

Refer to the exhibit. An engineer configured route exchange between two different companies for a migration project EIGRP routes were learned in router C but no

OSPF routes were learned in router A. Which configuration allows router A to receive OSPF routes?

A. (config-router-af)#redistribute ospf 10 1000000 10 255 1 1500
B. (config-routeraf-topology)#redistribute ospf 10 metric 2000000 10 255 1 1500
C. (config-router-af-topology)#redistribute connected

D. (config-router-af-topology )£no redistribute ospf 10 match external 1 external 2 metric 1000000 10 2551 1500

Answer: B

NEW QUESTION 86
- (Exam Topic 3)

A company is expanding business by opening 35 branches over the Internet. A network engineer must configure DMVPN at the branch routers to connect with the
hub router and allow NHRP to add spoke routers securely to the multicast NHRP mappings automatically Which configuration meets this requirement at the hub

router?
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A}

interface TunnelO

ip address 10.0.0.1 255 255 2550
'p nhrp authentication KEY 1

p nhrp nhs dynamic

ip nhrp network-id 10

tunneal mode mgre auto

B}

interface Tunneld
ip address 10.0.0.1 255 255 255.0
P nhrp authentication KEY 4
ip nhrp registration no-unigque

ip nhrp network-id 10
Tunnel mode gre nmba

o)

imerface Tunneid
P address 10.0.0.1 255 255 7255 0
ip nhrp authentication KEY 1
Ip nhrp map multicast dynamic
ip nhrp netwaork-id 10
tunnel mode gre multipoint

)

interface Tunneld

ip address 10.0.0.1 255 2585 o255 o
Ip nhrp authentication KEY1

pr nhrp map multicast 224 0.0.0
g nhrp network-id 10

tunnel mode gre ipvd

. Option A
. Option B
. Option C
. Option D

o0 w>

Answer: C

Explanation:

The command “ip nhrp map multicast dynamic” allows NHRP to automatically add spoke routers to the multicast NHRP mappings.

NEW QUESTION 87
- (Exam Topic 3)

AS 1000

(-10)

Internet Cloud

192.168.101.0v24 192.168.102.0/24

As 100 (1)

192.168.1.0/24 192.168.2.0/24

AS B4555

o EON
RS (1)
Customer Edge

Refer lo Ihe exhibit. The Customer Edge rouler wants to use AS 100 as the preferred ISP for all external routes and ISP-2 as a backup.

Customer-Edge

route-map SETAS
set as-path prepend 111
I

router bgp 64555
neighbor 192.168.1.1 remote-as 100
neighbor 192.168.2.2 remote-as 200
neighbor 192.168.2.2 route-map SETAS in

After this configuration, all the backup routes have disappeared from the BGP table on the Customer Edge router. Which set of configurations resolves the issue

on the Customer Edge router?
A)
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route-map SETAS
set as-path prepend 111
|

router bgp 64555
neighbor 192.168.2.2 remote-as 100
neighbor 192.168.1.1 remote-as 200
neighbor 192.168.1.1 route-map SETAS in
B)
route-map SETAS
set as-path prepend 200
|

router bgp 64555
neighbor 192.168.1.1 remote-as 100
neighbor 192.168.2.2 remote-as 200
neighbor 192.168.2.2 route-map SETAS in
C)
route-map SETAS
set as-path prepend 200
|

router bgp 64555

neighbor 192.168.1.1 remote-as 100
neighbor 192.168.2.2 remote-as 200
neighbor 192.168.2.2 route-map SETAS out

D)

route-map SETAS
set as-path prepend 111
1

router bgp 64555

neighbor 192.168.1.1 remote-as 100
neighbor 192.168.2.2 remote-as 200
neighbor 192,168.2.2 route-map SETAS out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 92
- (Exam Topic 3)
Refer to the exhibit.

ip prefix-list DMZ-STATIC seq 5 permit 10.1.1.0/24
|

route-map DMZ permit 10
match ip addresss prefix-list DMZ-STATIC
!
router ospf 1
network 0.0.0.0 0.0.0.0 area 0

redistribute static route-map DMZ
!

ip route 10.1.1.0 255.255.255.0 10.20.20.1

The static route is not present in the routing table of an adjacent OSPF neighbor router. Which action resolves the issue?
A. Configure the next hop of 10.20.20.1 in the prefix list DMZ-STATIC

B. Configure the next-hop interface at the end of the static router for it to get redistributed

C. Configure a permit 20 statement to the route map to redistribute the static route

D. Configure the subnets keyword in the redistribution command

Answer: D

NEW QUESTION 96
- (Exam Topic 3)
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10.255.255.1/32 10.255.235.3/32
P, oY

7 1 1579 2 3
TYSTTE » JEETYRITTTRL ot

PE1l# show run | sec router bgp

roucer Lf3 L= ELLL
bgp log-neighbor-changes
neighbor 10.25%5.255.3 remote-as 65000

neighbor 10.255.255.3 update-source Loopback(

I.’J L m= I

FEL{ debug ip top transactions
FEIf debwg ip iomp

Refer to the exhibit. The administrator is troubleshooting a BGP peering between PE1 and PES3 that is unable to establish Which action resolves the issue?

A. P2 must have a route to PE3 to establish a BGP session to PE1

B. Disable sending ICMP unreachables on P2 to allow PE1 to establish a session with PE3

C. Ensure that the PE3 loopback address is used as a source for BGP peering to PE1

D. Remove the traffic filtering rules on P2 blocking the BGP communication between PE1 and PE3

Answer: C

NEW QUESTION 99
- (Exam Topic 3)
What are the two reasons for RD and VPNv4 addresses in an MPLS Layer 3 VPN? (Choose two.)

A. RD is prepended to each prefix to make routes unique.

B. VPN RT communities are used to identify customer unigue routes.

C. When the PE redistributes customer routes into MP-BGP, they must be unique.
D. They are on a CE device to use for static configuration.

E. They are used for a BGP session with the CE device.

Answer: AC

NEW QUESTION 101

- (Exam Topic 3)
100.0.0.0°82 is subnetted, 3 subnals

C 10001 1.1 is directly connected, Loophack(
1002 2.2 [0 S6160] vea 101 1.2, (0048, FastEtherneal Qi)
100.3.3 3 [90M158720] via 10.1.1.14, 000044, FasiEthermet 140

[90M158720] via 10.1.1.2, 00.00:44, FasiEthenel(/

10.0.0.0¢8 15 vanably subnetfed, 13 subnets, 4 masks
1001 1.8/30 [930720] via 10.1.1 14, 00 00 44, FasiEthemeat1/0
10.1.1.12/30 s diracily connecled, FasiEihemet1/0
10.1.1. /30 is directly connected, FasiEthemeatiil
1001 1 430 [D0/30720] via 10.1.1 2 00 0045, FastFihemeat/n
1001001 406532 is directly connecled, Loopbackdd

EX 101180020 [17332580] via 10.1.1.14, 000 45, FasiEtheme! 110

[1/W33280] wa 10.1.1.2, D0:00:435, FasiElhemetid

100100 1 50032 is direcily connecled, Loopbacks0
10,100 1 10532 is directly connecied, Loopback10
10.100.1.0¢24 is a summary, 00:00:48, Nulld
100100 1 332 is direcily connecled, Loopback30
10,100 1 20632 15 directly connecled, Loopback2(
10,200 10024 i direcily connecled, FastEthernetin

DEX 10247 100530 [17072174976) via 10.1.1.14, 00 00048, FasiEthamet 1/0

[17w2174976] via 10.1.1.2, 000045, FastEthemell/

e R

oDoQoooQ

OOOWmon

Refer to the exhibit. R1 must advertise all loopback interfaces IP addresses to neighbors, but EIGRP neighbors receive a summary route. Which action resolves
the issue?

A. Redistribute connected routes into EIGRP Enable
B. EIGRP on loopback Interfaces.

C. Disable auto summarization on R1.

D. Remove the 10.100.1.0/24 static route.

Answer: D

NEW QUESTION 105
- (Exam Topic 3)
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Flé¢show time-range

time-range entry: timer (actiwve)
periodic weekend 9:00 to 17:00
used in: IP ACL entry
used in: IP ACL entry

Rlé#¢show ip access-list interface gig0/0

Extended IP access list NO Internet in
10 deny tcp any any g www time-range timer (actiwve)
20 deny tep any any eg 443 time-range timer (actiwve)
30 permit ip any any

T——

Refer to the exhibit. Users on a call center report that they cannot browse the internet on Saturdays during the afternoon. Which configuration resolves the issue?
A)

interface gig0/0
Ip access-group NO_Internet out
B)
ip access-list extended NO_Internet
15 permit tcp any any eq www
©)
no time-range timer
D)

time-range timer
no periodic weekend 9:00 to 17:00
periodic weekend 17:00 to 23:59

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 106
- (Exam Topic 3)
Refer to the exhibit.

RZW show ip ospf neighbor

Haighbor ID Pri State Doad Tima Addross Intarfaca
192 .1668.99.2 1 EXCHANGE/S - 00:00:36 192 .166.99.1 Seriald/fl
router-64

B3 show ip ospf neighbor
Neilghbor ID Pri State Dead T me Address Interface
192 .168.99.1 1 EXSTART/S - 00:00:33 192.168.99.2 serialo/l
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192.168.99.1/30 192.168.99.2/30
T, S0 : So/1 -

10.1.11.1/30

10.1.11.2/30

An OSPF neighbor relationship between R2 and R3 is showing stuck in EXCHANGE/EXSTART state. The neighbor is established between R1 and R2. The
network engineer can ping from R2 to R3 and vice versa, but the neighbor is still down. Which action resolves the issue?

A. Restore the Layer 2/Layer 3 conectivity issue in the ISP network.
B. Match MTU on both router interfaces or ignore MTU.

C. Administrative "shut then no shut" both router interfaces.

D. Enable OSPF on the interface, which is required.

Answer: B

Explanation:

After two OSPF neighboring routers establish bi-directional communication and complete DR/BDR election (on multi-access networks), the routers transition to the
exstart state. In this state, the

neighboring routers establish a master/slave relationship and determine the initial database descriptor (DBD) sequence number to use while exchanging DBD
packets.

Neighbors Stuck in Exstart/Exchange State

The problem occurs most frequently when attempting to run OSPF between a Cisco router and another vendor’s router. The problem occurs when the maximum

transmission unit (MTU) settings for neighboring router interfaces don’t match. If the router with the higher MTU sends a packet larger that the MTU set on the
neighboring router, the neighboring router ignores the packet.

NEW QUESTION 111
- (Exam Topic 3)

Metwork A PV Router MNetwork B

“[3|l].‘[}ﬁ'-_d;_:3|[}:1

L) -

— — i

Lt

FTP Serve FTP Chent
2001 0db8 1 2001 0db8 8000 1
- ¢ _t - I.I-._--:‘- - ¢
- = -
P F RVER
R
¥ E FS 3
- X = -
% - - - F "o FTP-SERVER 1
nterface Gigal Etherne 1
ription FIrP CLLENT
k
I 1 r&a
t a ress £ iiDE F
- 1
& rep—— 1 - il T — TENT -
€ a - FTP-CLIENT
T e & - = - - , . P [ e o S—
ol -k e £ Ea
1 is TP—CLIENT

2001:0B8:8000::1 eg ftp establishid

permit tcp host 2001:DB8::1 host 2001:DBE8: ::1 &g frp-data established

Refer to the exhibit. When an FTP client attempts to use passive FTP to connect to the FTP server, the file transfers fail Which action resolves the issue?
A. Configure active FTP traffic.

B. Modify FTP-SERVER access list to remove established at the end.

C. Modify traffic filter FTP-SERVER in to the outbound direction.

D. Configure to permit TCP ports higher than 1023.

Answer: D
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NEW QUESTION 116
- (Exam Topic 3)

FFitraceroute 192 _168.1.1

1 10.0.0.9 40 msac 28 msec 24 msac
? L L L]

1 % & @

RE#show Iip prefix-list detail

Prefix-list with the last deletion/insertion: Customar

ip prefix-list Customer:
count: 2, range entries: 1, sequences: 5 - 10, refcount: 3
seq 5 deny 192.168.1.1/32 (hit count: &, refcount: 1)
saq 10 parmit 0.0.0.0/0 le 32 (hit count: 26, refcount: 1)

RCH#show ip prefix-list detail

Prefix-list with the last deletion/insertion: Customer

ip prefix-list Customer:
count: 1, range entries: 1, sequences: 10 - 10, refcount: 4
seq 10 permit 0.0.0.0/0 le 32 (hit count: 7, refcount: 1)

190 LEA. M1

BGF &5001

BGP &Y [LEN EUN U

LA W B0 1030 Y

TG LA W0 FLIRTIE | R

30585 TOL0L 018 WD

LLRA LN ]

Refer to the exhibit The enterprise users fail to authenticate with the TACACS server when a direct fiber link fails between RB and RD The NOC team observes
2 Users connected on AS65201 fail to authenticate with TACACS server 192 168 1 1

» Users connected on AS65101 successfully authenticate with TACACS server 192 168 1 1\

> All AS65101 and AS65201 users are configured to authenticate with the TACACS server

Which configuration resolves the issue?

A)

RC(config) ip prefix-list Customer seq § permit 192.168.30.1/32

B)

C(config®router bgp 65101
RC(config-router)# neighbor 10.0.0.18 prefix-list Customer in
)

RF(config)#no ip prefix-list Customer seq 5 deny 192.168.1.1/32

D)

RF(config)¥router bgp 65201
RF(confia-router ¥ neiahbor 10.0.0.17 prefix-list Customer out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 121
- (Exam Topic 3)

R1#show bgp ipv6 unicast 2001:db8::1/128
BGP routing table entry for 2001:db8::1/128, version 3
Paths: (1 available, best #1, table Global-IPv6-Table)
Not advertised to any peer
Local
2001:db8:33:33::33 (metric 128) from 2001:db8:11:11::11 (1.1.1.1)
Origin IGP, metric 0, localpref 100, valid, internal, best
Originator: 3.3.3.3, Cluster list: 1.1.1.1

Refer to the exhibit. An engineer examines the BGP update for the IPv6 prefix 2001:db8::1/128. which should have been summarized into a /64 prefix. Which
sequence of actions achieves the summarization?

A. R1is a route reflector client of a RR with a router ID of 1.1.1.1. and the originator of the prefix has a router ID of 3.3.3.3. Both routers belong to different AS
B. The prefix is not advertised to any peer and must be advertised using the network statement on R3.

C. Rl is a route reflector with a router ID of 3.3.3.3. and the originator of the prefix is a route reflector client, which has a router ID of 3.3.3.3. Both routers belong to
the same AS Configure an aggregate address on the router with ID 1.1.1.1 for the prefix

D. R1 is a route reflector with a router ID of 1.111. and the originator of the prefix is a route reflector client, which has a router ID of 3.3.3.3. Both routers belong to
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the same AS Configure an aggregate address on the router with ID 1.1.1.1 for the prefix

E. R1 is a route reflector client of a RR with a router ID of 1.1.1.1. and the originator of the prefix has a router ID of 3.3.3.3. Both routers belong to the same A
F. Configure an aggregate address on the router with ID 3 3.3.3 for the prefix.

Answer: D

NEW QUESTION 124
- (Exam Topic 3)

10.0.0.2/30
EQy1

1000.0.1,30
e/ WA

51
S1Fping 10.0.003
Type escape sequence bo abart.
sending 5, LOD-byie ICMP Echos 1o 10.000.1, timeout & 2 seconds

Siftcinet 10,0.0.1
Trying 10.0.0.1 ... Open

annection 1o 0.1 cloge w foreign host
[ i 1000.0.1 closed by fi gn h

Refer to the exhibit. A network engineer cannot remote access R3 using Telnet from switch S1. Which action resolves the issue?

Suecess rate s 100 percent [505), round-trip minfavpdmax = 17171 ms

R

R3

| R34

hostname B3
] 1
! enable password cisco
| 1
| no and newsrrodel

1
| username admen password 0 c=co
| 1
| intorface Etharnatdfl
bp address 1000001 255255255 252
1
lire can O
fopging synchronous
lirve aux
lere wiy 0 4
passwarnd cisco
kogin
R e

transport inpat all
|

end

A. Allow the inbound connection via the exec command on R3.

B. Add the transport input telnet command on R3.

C. Allow to use the ssh -l admin 10.0.0.1 command on the switch.

D. Add the login admin command on the switch.
Answer: A
NEW QUESTION 129

- (Exam Topic 3)
Refer to the exhibit.

1#.1.1.0/24 18.1,.2. 8724

18.1.3.8/2a 1P.10.18. 8,248

&) (.4)
B
- = e

&y o
= e

router bgp 100

ASBR3

router bgp 100

ASBR4

neighbor 10.1,1.1 ramote-as 100

neighbor 10.1.2.2 ramct
. e-as 100
neighbor 10.1.3_3 remote—-as 100

bBgp 100
TRRISRSTI% 2 4 cemesaran 100

neighbor 10.1.2.4 ramote-as 100

neighbor 10.1.3_ 4 ramcote-as 100

The administrator configured the network devise for end-to-end reachability, but the ASBRs are not propagation routes to each other. Which set of configuration

resolves this issue?

A. router bgp 100 neighbor 10.1.1.1 route-reflector-client neighbor 10.1.2.2 route-reflector-client neighbor 10.1.3.3 route-reflector-client

B. router bgp 100 neighbor 10.1.1.1 next-hop-self neighbor 10.1.2.2 next-hop-self neighbor 10.1.3.3 next-hop-self

C. router bgp 100neighbor 10.1.1.1 update-source LoopbackOneighbor 10.1.2.2 update-source LoopbackOneighbor 10.1 3.3 update-source Loopback0

D. router bgp 100neighbor 10.1.1.1 ebgp-multihopneighbor 1021.2.2 ebgp-multihopneighbor 10.1.3.3 ebgp-multihop
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Answer: A

NEW QUESTION 130
- (Exam Topic 3)

oy

Mo

EZ#sho run | sec router
routar aigrep 100
redistribute capf 100 metric
1 10000 200 200 1500
network 10.20.0.0 0.0.0.
network 172.16.23.0 0.0.
Aulo- SUmme ry

router ospf 100
router-id 2.2.2.2
loeg-adjacency-changes
redistribute aigrep 100

metric 15000 subnests
network 10.20.0.0 0.0.0.3
area 0

R2¥

3
0.3

182 168 200 024

==

e

10 40 00420 ]

= -
- "
1 . 3Uua;k

EIGRP AS 100

b

Rl
Rl#sho ron | s&o Foutar

router sigrp 100

redistribute rip metric 1 10 255 255 1300
moatwork 10 .0.0,0

AULo - 5 Umna ry

eligrp router-id 1.1.1.1
routar ospf 100

routsr-1d 1.1.1.1
log-adjacency-changes
network 10.20.0.0 0.0.0.3 area 0
router rip

redistribute aigrp 100 metric 1
network 10.0.0.0
mR1w

Refer to the exhibit The route to 192 168 200 0 is flapping between R1 and R2 Which set of configuration changes resolves the flapping route?

RZ(config#router ospf 100

F2{config-router#ne redistribute eigrp 100
R2i{config-router wredistribute eigrp 100 metric 1 subnets

R1{config®no router rip

R1(configi¥ip route 192.168.200.0 255.256.255.0 10.40.0.2

F2iconhig wrouter eigrp 100

R2{config-router jEne redistribute espf 100

R2({config-router Eredistribute rip

R1{config =router ospf 100
R1iconfig-routerEredistribute rip

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 132
- (Exam Topic 3)

metric 1 metric-type 1 subnets

"Sap 32316 21 264 EIGRP. Nesghbor (10.1 2 182) not yal found

"Sep 3 231018 675 Gong down Peer 101 2.1 total=2 stub (0, ndb-stub=0 1d-ali=0
"Sep 3231018 675 EIGRP Handke deallocation fakure [1)

*Sap 3231818 675 EIGHP Nesghbor 10,1 2.1 went down on Tunneld

"Sep 3231922 943 EIGRP: New peer 10121

"Sep 3 231022 43 %DUAL-5-NBRCHANGE EIGRP-1Pv4 3111 Newghbor 101 2.1 (Tunnell) 15 up. new adacency

Refer to the exhibit. Which configuration command establishes an EIGRP neighbor adjacency between the hub and spoke?

A. connected 10.1.2.192 command on spoke router
B. network 10.1.2.192 command on spoke router

C. eigrp-peer 10.1.2.192 command on the hub router
D. neighbor 10.1.2.192 command on hub router

Answer: D

NEW QUESTION 133
- (Exam Topic 3)
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P— — p—

Tunnel 0 Tunnel 0
10.0.80.1 10.0.80.2

10.2 100.0/24 |

10.92.18.0/30

10.3,1000/284 |

FNT ERNET Fe2/010  FeZ/0.10

&1/0

Refer to the exhibit An engineer must connect the Reno and Detroit spokes using DMVPN phase 2 Hub tunnel configuration is

eler 10 1Ne exniblt Anh ehgineet must conneett
Dallas

Interface Tunnel0

ip address 10.0.80.1 255.2585.255.0

ip nhrp authentication cisco123

ip nhrp map multicast dynamic

ip nhrp network-id 5

tunnel source Serial0/0

tunnel mode gre multipoint

Which configuration accomplishes the task?

Rend

interface Tunnell

ip address 10.0.80.3 285.255.2585.0
ip nhrp authentication ciscol21
ip nhrp map multicast 10.92.18.2
ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp network-id §

ip nhrp nhs 10.0.80.1

twnnel source 10.238.194.2

tunnel mode gre multipoint

Diatron

interface Tunneld

ip address 10.0.80.4 255.255.255.0
ip nhrp authentication ciscol21
ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp map multicast 10.92.18.2
ip nhrp network-id 5

ip nhrp nhs 10.0.80.1

tunnel source 10.7.44.2

tunnel mode gre multipoint

Reno

interface TunnelD

ip address 10.0.80.3 255.255.255.0
ip mhrp authentication cisco123
ip nhrp map multicast 10.92.18.2
ip nhrp map 10.92.18.2 10.0.80.1
ip mhrp network-id §

ip nhrp nhs 10.0.80.1

tunnel source 10.238.194.2

tunnel mode gre multipolnt

Detron

interface Tunne!D

ip address 10.0.80.4 255.255.255.0
ip nhrp authentication ciscoi123
ip nhrp map 10.92.18.2 10.0.80.1
ip nhrp map multicast 10.92.18.2
ip nhrp network-id §

Ip nhrp nhs 10.0.80.1

tunnel source 10.7.44 .2

tunnel mode gre multipolnt
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Heng
interface Tunnel0
ip address 10.0.80.3 255.255.266.0
ip nhrp authentication cisco123
ip nhrp map broadcast 10.92.18.2
ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp network-id §
ip nhrp nhs 10.0.80.1
tunnel source 10.238.194.2
tunnel mode gre multipoint

Dietrost
interface Tunnel0
ip address 10,0.80.4 255.255.265.0
ip nhrp authentication cisco123
ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp map broadcast 10.92.18.2
ip nhrp network-id 8
ip nhrp nhs 10.0.80.1
tunnel source 10.7.44.2
tunnel mode gre multipoint

Reno

interface Tunnell

ip address 10.0.80.3 255.255.285.0
ip nhrp authentication cisco123
ip nhrp map multicast 10.92 18.2
ip nhrp map 10.0.80.1 10.92.18.2
Ip nhrp network-id §

Ip nhrp nhs 10.0.80.1

twnnel source 10.238.194.2

tunnel mede gre multipoint

Detrost

interface Tunnel0

ip address 10.0.80.4 255 255 2558.0
ip nhrp authentication cisco123
Ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp map multicast 10.92.18.2
ip nhrp network-id 5

Ip nhrp nhs 10,0.80.1

twunnel source 10.7.44.2

tunnel mode gre multipoint

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 137
- (Exam Topic 3)
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Ri#show ip flow export

VRF ID : Dafault
Source(l)

version 9 flow records

Rid#show ip flow interface
GigabitEthernet2/0
ip flow ingress

10.10.10.2

ﬁ R

10.10.10.1

10.10.10.3

Flow export v9 is enabled for main cache
Export source and destination details

10.0.0.10 (GigabitEthernet2/0)
Destination(l) 192.168.10.1 (656)

254 flows exported in 41 udp datagrams

0 flows failed due to lack of export packet

0 export packets were sent up to proocess level

41 export packets were dropped due to no fib

0 export packets were dropped due to adjacency issues

0 export packets were dropped due to fragmentation failures

0 export packets were dropped due to encapsulation fixup failures

10.10.10.3
L
10.10.10.4
GF1/0 GE2fO
“40/0 .
GEO/O Data center

' . ' 192.168.10.1

10.10.10.5

Refer to the exhibit An enterprise operations team must monitor all application server traffic in the data center The team finds that traffic coming from the hub site
from R3 and R6 rs monitored successfully but traffic destined to the application server is not monitored Which action resolves the issue?

A)

R4(config®int gigabitEthernet 1/0
R4(conhg-f#ip flow ingress

B)
R1({conhg#int gigabitEthernet 0/0
R1{config-f=ip flow egress
C)
Rd({config=int gigabitEthernet 2/0
Ré4(config-=ip flow egress
D)
R3(config =int gigabitEthernet 0/0
R3(config-iN=ip flow egress

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 142
- (Exam Topic 3)
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Aouterdahow ip Bgp wpmed rd 1100 1001 10 30 118 62
BGP roubng tabee sobry fof 1700 1001 1030118 07] werson JETE5ITS
Faths (% svadable best ¥ no taoke )
Advertied o updabe-groups
1 F | 3
(65001 S4055 B500)) 65089 (Receved rom 3 RR-chent)
172 18 254 226 (mlric 20845 from 172 16 224 236 (172 16 224 2038)
Cwgin IGP matn: ) ocaipre! 100 valbd conled-nbenmal
Exvtended Commundy RT 1100 1001
s labsaits o' oul rolabat 360
(65008 84055 65007 85089
172 18 254 226 (matric. 20845 tegm 10 130 123 T 090 130 023 T}
Ongant IGF meptnc O loCaipre! 100 wabd Corfed-galema
Evtended Commundy RT 1100 9081
mpks labetids ool nodibaed 38 Y
(65007 84555 65007 85089
172 8 254 228 imelrec J0845) from 172 98 218 293 (172 18 218 25)
O IGP meetne 0 loCaipred 100 vald conled-exlermal
Estended Commundy RT 1100 1001
gk labats ndoud nolabet 38
(65001 S4055 65007 S508%
172 18 254 226 (matne 20845) trom 172 16 298 252 (172 16.218 242
Cngen IGF matne O locaipred 100 vald confed-eciemal
Estended Commundy RT 1100 10010
mph el ' oul Rolabel 38
(G095 S S5007 ) 65080
172 18 254 226 (imetnc 20845) from 10 7T 255 5T (10 TT 255 5T)
Oegen IGP mafine § localipre! 180 walsd corded o demal
Estended Community RT 1100001
i Ipbais o ca Polabel 387
G5y S 85003 ) 64089
172 18 254 226 (matng 20845 ) wom 10 57 255 11 (10 57 295 11)
COngan 10F mapine 0 loCaiphe! 100 vabd comded-exiemal Best
Extended Communiy RT 1100 1001
ik laleatd o' oul Rolabab 382

[ Bl S §500)) 65089

1T 06 P54 206 it TDE4S) e FEE TS 224 253 (172 16 224 243
Oragent IGF meptne 0 ocaiprel 100 walsd, CoRnled niermal
E viended Commundy FT 11009001

i ekl ot Polabed 162

[E5003; 65080

172 18 254 226 (meplric 20545 ) Wom 177 158 254 234 (177 16 254 7M)
Oragn I1GF et O ocaipre! 100 vald conled-estemal
Extended Comemuardty RT 1100 1001

172 16 228 226 imetnc 20645) romm 172 16 229 276 (772 M8 124 126
Owrsgun IGF maetrc 0 ipcapre? 100 vald oonled-nldmil

Evtended Commundty BT 1100 1001

g laeiks anvoul Podabad 2T

Refer to the exhibit. An engineer configured BGP and wants to select the path from 10.77.255.57 as the best path instead of current best path. Which action
resolves the issue?

A. Configure AS_PATH prepend for the desired best path

B. Configure higher MED to select as the best path.

C. Configure lower LOCAL_PREF to select as the best path.
D. Configure AS_PATH prepend for the current best path

Answer: D

NEW QUESTION 146
- (Exam Topic 3)

g

u

Refer to the exhibit. R1 uses SP1 as the primary path. A network engineer must force all SSH traffic generated from R1 toward SP2. Which configuration

accomplishes the task?
A)
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ip access-list extended match_SSH
permit tcp any any eq 22

|

route-map PBR_SSH permit 10
match ip address match_SSH

set ip next-hop 10.20.20.1

interface Gig0/0
ip policy route-map PBR_SSH

B)

ip access-list extended match_SSH
permit tcp any any eq 22
]

route-map PBR_SSH permit 10
match ip address match_SSH

set ip next-hop 10.10.10.1
1

ip local policy route-map PBR_S55H

C)

ip access-list extended match_SSH
permit tcp any any eq 22

!

route-map PBR_SSH permit 10
match Ip address match_SSH

set ip next-hop 10.20.20.1

ip local policy route-map PBR_SSH

D)

ip access-list extended match_SSH
permit tcp any any eq 22

!

route-map PBR_SSH permit 10
match ip address match_SSH

set ip next-hop 10.20.20.1

|

interface Gig0/1

ip policy route-map PBR_SSH

A. Option
B. Option
C. Option
D. Option

Answer: C

NEW QUESTION 148

- (Exam Topic 3)

A customer reports that traffic is not passing on an EIGRP enabled multipoint interface on a router configured as below:
interface Serial0/0 no ip address

interface Server0/0/0.9 multipoint ip address 10.1.1.1 255.255.255.248

ip split-horizon eigrp 1

Which action resolves the issue?

A. Enable poison reverse
B. Enable split horizon
C. Disable poison reverse
D. Disable split horizon

Answer: D

NEW QUESTION 150
- (Exam Topic 3)
An engineer configured routing between multiple OSPF domains and introduced a routing loop that caused network instability. Which action resolves the problem?

A. Set a tag using the redistribute command toward a domain and deny inbound m the other domain by a matching tag

B. Set a tag using the redistribute command toward a different domain and deny the matching tag when exiting from that domain

C. Set a tag using the network command in a domain and use the route-map command to deny the matching lag when exiting toward a different domain
D. Set a tag using the network command in a domain and use the route-map command to deny the matching tag when entering into a different domain
Answer: A

NEW QUESTION 154
- (Exam Topic 3)
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L0 \;\, Fiof1 E0f3 o
ey * —

Core 5“‘1 MS Server

FE e T o = ' 10.221.10.11
Rifcanfigil ip verily drop-rate compute window 60

Rillcankipgii ip verby drop-rate compule interval 60
R1foonfipht ip verly drop-rate notify held-down 60
Rl{canfigi interface ethernet 0/0
Rlleanfig-if# ip werify unicast notdication threshold 75000
Rljcanlig-if]# samp wrap ip verify drop-rate

||;1|,l:{ll"lrl|:: |8 @ mi

Refer to the exhibit. An engineer configured SNMP traps to record spoofed packets drop of more than 48000 a minute on the ethernet0/0 interlace. During an IP
spoofing attack, the engineer noticed that no notifications have been received by the SNMP server. Which configuration resolves the issue on R1?

A. ip verity unicast notification threshold 48000
B. ip verify unicast notification threshold 8000
C. ip verify unicast notification threshold 800
D. ip verify unicast notification threshold 80

Answer: C
NEW QUESTION 156

- (Exam Topic 3)
Refer to the exhibit.

‘ kil L0 F
VLAMS

FTP Server Switch
| Ussrname: cisco Corite 12
P cwand Ciseos :
File 1 download KOS hin
Interface VLAMNZ
CAUsersiFIPServers ping 10001 1 achdress 10000 255 2557550
1
ol 1 bites ol
igigdinng VRGO T wilh 32 bytes ol data | i Htp source-interface vian 2
Repdy 1o 100401 ites= 32 Tane« Ims TTL « 64

Reply from 10000.1: Bates= 32 time= Temg TTL =64 - - — - -

Fegely Tronmy 10001 Eptes = 32 Tofrve= Terek TTL =64 swtchacopy fipffoiscocisooi@I0umD, 2205 tEn flash:y

Reply from 10041 bytes= 32 (ame= 10 TTL=64 Paestenation lename (K25 bin)?

) Accessing Hpifoisconcisoo @ 100002005 bin,

Ping statigtics for 100000 :
Bkt Sent o 4 Becered « 4 Lost = 0 0% o | | - EMOr opening fepyciscociscai@10.0.0 2708 bin (Mo such file or directany)

Approximate sound Erigs times i milli-seconds

elirormam « Lims, Maximum « 1ms, Avesage = 1ms

An engineer cannot copy the 10S.bin file from the FTP server to the switch.
Which action resolves the issue?

A. Allow file permissions to download the file from the FTP server.

B. Add the 10S.bin file, which does not exist on FTP server.

C. Make memory space on the switch flash or USB drive to download the file.
D. Use the copy flash:/ ftp://cisco@10.0.0.2/I0S.bin command.

Answer: B

NEW QUESTION 161
- (Exam Topic 3)

1]

8%:31 59891 BSP: 10.0.0.17 want frem Zdls te Aotive

*Gap § 8.0.0.1

FEap 5 0L 31 58 BS5:- BEF: 10 .0.0.17 open sctive.  local sddress 10 .0 0. 18

*Sap 5 05 31 58 987 BGF 10 0 0. 17 resd request no-op

T Eap 5 0% 31 58 %11 | = ) ] s T want from Active tae Cpanfant

"Eap 5 0%:31 58 S511: BSF. 10 . 0.0.17 samding OFEN, werslisa 4, =y as: 63101, Boldiiss
L8] asconds

T Eap GE: 31 98 911 BEF: QA0.0.0.17 send msesage typs 1. length (imcl. besder) 51

-]
5 05:31.58.927: BEP. 10.0.0.17 remola cloas
“Zap 5 0531 30 331 mEr 10.0.0.17 -zeset the seddlen
B O5:31-50.931: DGFWEF state: 19.0.0.17 want from nef net_sctive te
naf mol msbive
REE
"Eep 5 05 04 27 D63 BCF 10,0 0 10 passive opag ta 10 0 0 17
“Sap N 08:34 27 08): BGF: 10 0. 010 passive opas falled = 10 0 0.17 i mot update-
pource Loopback?'s addrsss (10.10. 1% %)

“Sap 5 05 0 22 063 mar 10 .0.0.10 remsta comaectlon attaRgt falled. lecal addieas

{= .....e:- »
“\;;i/ e/

Refer to the exhibit. The traffic from spoke to hub is dropping. The operations team observes:
» R2-R3 link is down due to the fiber cut.

» R2 and R5 receive traffic from R1 in AS 65101.

» R3 and R5 receive traffic from R4 in AS 65201.

Which configuration resolves the issue?

A)
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R6{config)#router bgp 65101
R6{config-router)#no neighbor 10.0.0.17 update-source Loopback0

B)

RS(config)#router bgp 65101
RS(config-router)#no neighbor 10.0.0.18 update-source Loopback0

C)

R6(config)#router bgp 65201

R6(config-routerj¥neighbor 10.10.10.5 remote-as 65101
R6(config-router)#neighbor 10.10.10.5 update-source Loopback0
R6(config-router)#neighbor 10.10.10.5 ebgp-multihop 3

D)

R5(config)#router bgp 65101

R5(config-router)#neighbor 10.10.10.6 remote-as 65201

R5(config-router)#neighbor 10.10.10.6 update-source Loopback0
R5(config-routerj#neighbor 10.10.10.6 ebgp-multihop 3

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 163
- (Exam Topic 3)
Which two components are required for MPLS Layer 3 VPN configuration? (Choose two)

A. Use pseudowire for Layer 2 routes
B. Use MP-BGP for customer routes
C. Use OSPF between PE and CE

D. Use a unique RD per customer VRF
E. Use LDP for customer routes

Answer: CD

NEW QUESTION 168

- (Exam Topic 3)

A network administrator is troubleshooting a high utilization issue on the route processor of a router that was reported by NMS The administrator logged into the
router to check the control plane policing and observed that the BGP process is dropping a high number of routing packets and causing thousands of routes to
recalculate frequently. Which solution resolves this issue?

A. Police the cir for BGP, conform-action transmit, and exceed action transmit.

B. Shape the pir for BGP, conform-action set-prec-transmit, and exceed action set-frde-transmit.
C. Shape the cir for BG

D. conform-action transmit, and exceed action transmit.

E. Police the pir for BGP, conform-action set-prec-transmit, and exceed action set-clp-transmit.

Answer: D
Explanation:

CIR (Committed Information Rate) is the minimum guaranteed traffic delivered in the network.
PIR (Peak Information Rate) is the top bandwidth point of allowed traffic in a non busy times without any guarantee.

Two Rates & Three Colors

information Rate (bps)

PIR -

Committed Peak
Information Information
Rate Rate

+ Policing: is used to control the rate of traffic flowing across an interface. During a bandwidth exceed (crossed the maximum configured rate), the excess traffic is
generally dropped or remarked. The result of traffic policing is an output rate that appears as a saw-tooth with crests and troughs. Traffic policing can be applied to
inbound and outbound interfaces. Unlike traffic shaping, QoS policing avoids delays due to queuing. Policing is configured in bytes.

+ Shaping: retains excess packets in a queue and then schedules the excess for later transmission over increments of time. When traffic reaches the maximum
configured rate, additional packets are queued instead of being dropped to proceed later. Traffic shaping is applicable only on outbound interfaces as buffering and
gueuing happens only on outbound interfaces. Shaping is configured in bits per second.
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o o9
w ] _Traffic Rate
L L
= Policing ¥

Tima Time
= =
= = Traffic Rate
© P
- Shaping " | [

f
Time Time

Therefore in this case we can only policing, not shaping as traffic shaping is applicable only on outbound interfaces as buffering and queuing happens only on
outbound interfaces. Moreover, BGP traffic is not important so we can drop the excess packets without any problems.

And we only policing the PIR traffic so that the route processor is not overwhelmed by BGP calculation. Note: The “set-prec-transmit” is the same as “transmit”
command except it sets the IP Precedence level as

well. The “set-clp-transmit” sets the ATM Cell Loss Priority (CLP) bit from 0 to 1 on the ATM cell and

transmits the packet.

NEW QUESTION 173

- (Exam Topic 3)

A CoPP policy is applied for receiving SSH traffic from the WAN interface on a Cisco ISR4321 router. However, the SSH response from the router is abnormal and
stuck during the high link utilization. The problem is identified as SSH traffic does not match in the ACL. Which action resolves the issue?

A. Rate-limit SSH traffic to ensure dedicated bandwidth.
B. Apply CoPP on the control plane interface.

C. Increase the IP precedence value of SSH traffic to 6.
D. Apply CoPP on the WAN interface inbound direction.

Answer: B

Explanation:
The problem is “SSH traffic does not match in the ACL” and “CoPP policy is applied for receiving SSH traffic from the WAN interface” so we should apply CoPP
on the control plane interface instead.

NEW QUESTION 175
- (Exam Topic 3)
Refer to the exhibit.
ipv8 dhcp pool DHCPPOOL
address prefix 2001:0:1:4::/64 lifetime infinite infinite

interface FastEthernet0/0

ip address 10.0.0.1 255.255.255.240
duplex auto

speed auto

ipve address 2001:0:1:4::1/64

ipv6 enable

ipv6 nd ra suppress

ipv6 ospf 1 area 1

ipv6 dhep server DHCPPOOL

Reachability between servers in a network deployed with DHCPV6 is unstable. Which command must be removed from the configuration to make DHCPv6
function?

A. ipv6 dhcp server DHCPPOOL

B. ipv6 address 2001:0:1:4::/64

C. ipv6 nd ra suppress

D. address prefix 2001:0:1:4::/64 lifetime infinite infinite

Answer: C

NEW QUESTION 176
- (Exam Topic 3)
Refer to the exhibit.
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Routers R1 and R2 have established a network adjacency using EIGRP, and both routers are advertising subnets to its neighbor. After issuing the show ip EIGRP
topology all-links command in R1, some prefixes are no showing R2 as a successor. Which action resolves the issue?

A. Rectify the incorrect router ID in R2.

B. Enable split-horizon.

C. Configure the network statement on the neighbor.
D. Resolve the incorrect metric on the link.

Answer: D

NEW QUESTION 177

- (Exam Topic 3)

Refer to the exhibit.
'_"I.._._I % ”‘I
router bap 65001

10 synchroniZzation

- ~rvitar_id A0 400 1 50
ogp I yuter-1d 10,1001
|_'I-Z_;:: 10g-Ne [_:;|':.I'."|--:'::"-:||‘I'-'_|"."'-

network 10.1.1.0 mask 255.255.255.252
network 10.1.1.12 mask 255.2556.255.252
network 10.100.1.50 mask 255.255.255.255
timers bgp 20 60

neighbor R2 peer-group

neighbor R4 peer-group

neighbor 10.1.1.2 remote-as 65001

neighbor 10.1.1.2 peer-group R2

neighbor 10.1.1.14 remote-as 65001

ne :]l-:r:r 10.1.1.14 peer-group R4

no adlg-summanry

While troubleshooting a BGP route reflector configuration, an engineer notices that reflected routes are missing from neighboring routers. Which two BGP
configurations are needed to resolve the issue? (Choose two)

. neighbor 10.1.1.14 route-reflector-client
. heighbor R2 route-reflector-client

. neighbor 10.1.1.2 allowas-in

. heighbor R4 route-reflector-client

. heighbor 10.1.1.2 route-reflector-client

mooOw>

Answer: AE

NEW QUESTION 182
- (Exam Topic 3)
Refer to the exhibit.
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The security department recently installed a monitoring device between routers R3 and R5, which a loss of network connectivity for users connected to R5.
Troubleshooting revealed that the monitoring device cannot forward multicast packets. The team already updated R5 with the correct configuration. Which
configuration must be implemented on R3 to resolve the problem by ensuring R3 as the DR for the R3-R5 segment?

A)
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 184
- (Exam Topic 3)
What is a function of BFD?

A. peer recovery after a Layer 3 protocol adjacency failure

B. peer recovery after a Layer 2 adjacency failure

C. failure detection independent of routing protocols and media types
D. failure detection dependent on routing protocols and media types

Answer: D

NEW QUESTION 185

- (Exam Topic 3)

CPE4 show snmp mib ifmibh ifindex detail

Description ifIndex Actiwve Persistent Saved TrapStatus
Loopbackl B yes disabled no anabled
GigabitEthernetl 1 YES disabled no enabled
GigabitEthernetl 3 yes disabled no  enabled
GigabitEthernetd, 123 10 yes disabled no disabled
VoIP-Kulld 5 yes disabled no enabled
LoopbackD 7 yes disabled ne  enabled
Nulld & YyEs disabled no  enabled
Loopback2 ) yes disabled ne  enabled
GigabitEthernetd 4 yes disabled no  enabled
GigabitEthernet2 Z yes disabled no  enabled

Refer to the exhibit. After reloading the router an administrator discovered that the interface utilization graphs displayed inconsistencies with their previous history
in the NMS. Which action prevents this issue from occurring after another router reload in the future?

A. Rediscover all the router interfaces through SNMP after the router is reloaded
B. Save the router configuration to startup-config before reloading the router

C. Configure SNMP to use static OIDs referring to individual router interfaces

D. Configure SNMP interface index persistence on the router

Answer: D

NEW QUESTION 188

- (Exam Topic 3)

A network administrator is troubleshooting a failed AAA login issue on a Cisco Catalyst c3560 switch. When the network administrator tries to log in with SSH using
TACACS+ username and password credentials, the switch is no longer authenticating and is failing back to the local account. Which action resolves this issue?

A. Configure ip tacacs source-interface GigabitEthernet 1/1

B. Configure ip tacacs source-ip 192.168.100.55

C. Configure ip tacacs-server source-ip 192.168.100.55

D. Configure ip tacacs-server source-interface GigabitEthernet 1/1

Answer: A

NEW QUESTION 192

- (Exam Topic 3)

An engineer failed to run diagnostic commands on devices using Cisco DNA Center. Which action in Cisco DNA Center resolves the issue?
A. Enable Command Runner

B. Enable APIs
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C. Enable CDP
D. Enable Secure Shell

Answer: A

NEW QUESTION 193
- (Exam Topic 3)
Which two labet distribution methods are used by routers in MPLS? (Choose two )

A. targeted hello message

B. LDP discovery hello message

C. LDP session protection message
D. downstream unsolicited

E. downstream on demand

Answer: DE

NEW QUESTION 194
- (Exam Topic 3)
What are the two goals of micro BFD sessions? (Choose two.)

A. The high bandwidth member link of a link aggregation group must run BFD
B. Run the BFD session with 3x3 ms hello timer

C. Continuity for each member link of a link aggregation group must be verified
D. Eny member link on a link aggregation group must run BFD

E. Each member link of a link aggregation group must run BFD.

Answer: CE

Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/iproute_bfd/configuration/xe-16-8/irb-xe-16-8-book/irb-micr

NEW QUESTION 197
- (Exam Topic 3)

How does an MPLS Layer 3 VPN differentiate the IP address space used between each VPN?

A. by RD

B. by address family
C. by MP-BGP

D. byRT

Answer: A

NEW QUESTION 202
- (Exam Topic 3)

Refer to the exhibit. An engineer is trying to log in to R1 via R3 loopback address. Which action resolves the issue?

A. Add transport input SCP

B. Add transport input none

C. Remove the IPv6 traffic filter from R1, which is blocking the Telnet.
D. Remove the IPv6 traffic from R1, which is blocking the SSH

Answer: C
NEW QUESTION 203

- (Exam Topic 3)
Refer to the exhibit.

2001:db8:ab:7 DHCP

—— Sorver

GioM
2001:db8:a:a::/64 il 2{}ﬂ1;db8;d;:‘g
Gi0/o Gior2 —=

NAT Enabled Router

2001:db8:a:a::10

o

PC
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C\PC= ping 2001:db8:a:b::7

Pinging 2001:db8:a:h:: 7 with 32 bytes of data;

Reply from 2001:db8:a:b::7: time=46ms

Reply from 2001:db8:a:b::7: time=40ms

Reply from 2001:db8:a:b::7: time=40ms

Reply from 2001:db8:a:b::7: time=40ms

Ping statistics for 2001 :db8:a:b::7

Packets: Sent = 4, Received = 4, Lost = 0 (0% loss),
Approximate round trip times in milli-seconds:
Minmmum = 40ms, Maximum = 46ms, Average = 4 lms

I
7

R1# telnet 2001:db8:a:b::7
Trying 2001:DBE:A:B::7 ... Open
User Access Vertfication
Password:

R1# show ipv6 access-list TSHOOT

[PvE access st TSHOOT

deny tep any host 2001:DB8:A:B::7 eq teluet (6 matches) sequence 10

pemut tep host 2001:DBE:A:A:: 10 host 2001:DBE:A:B::7 eq telnet sequence 20
permut tep host 2001:DB8:A:A:: 10 host 2001:DBE:D::1 eq www sequence 30
peruit ipve 2001:DBE8:A:A::'64 any (67 matches) sequence 40

An engineer is troubleshooting a failed Telnet session from PC to the DHCP server. Which action resolves the issue?

A. Remove sequence 30 and add it back to the IPv6 traffic filter as sequence 5.
B. Remove sequence 20 and add it back to the IPv6 traffic filter as sequence 5.

C. Remove sequence 10 to add the PC source IP address and add it back as sequence 10.

D. Remove sequence 20 for sequence 40 in the access list to allow Telnet.

Answer: B

NEW QUESTION 207
- (Exam Topic 3)

RD#show ip bgp 192.168,1.1
Advertised to update-groups:
3
65101
10.10.10.2 (matric 2) from 10.10,10.2 (10.10.10.32)
Origin IGP, metric 100, localpref 100, weight 65535, wvalid, external,
bast
65101
10.0.0.17 (metric 2) from 10.10.10.6 (172.16.20.1)
Origin IGP, metric 0, localpref 100, valld, Internal

FBéshow ip bgp 192.168.1.1
BGP routing table entry for 192 . 168.1.1/32, version 10
Paths: (1 available, best #1, table Default-1P-Routing-Table)

Advertised to update-groups:

2
Lecal
10.10.10.1 (metric 2) from 10.10.10.1 (192.188.1.1)
Origin IGP, metric 0, localpref 100, walid, internal , baest

JLERTE AR ]
B RS

———

B w101 M.l 1010183 =

.

pL AR AR

10.0.0.16/ 90

W08 0% LE L UL

Refer to the exhibit. A customer finds that traffic from the application server (192.168.1.1) to the HUB site passes through a congested path that causes random
packet drops. The NOC team influences the BGP path with MED on RB. but RD still sees that traffic coming from RA is not taking an alternate route. Which

configuration resolves the issue?
A)

RD(config }#¥router bgp 65201

RD(config-router #no neighbor 10.10.10.2 weight 65535

B)
RB(config)#router bgp 65101

RB(config-router j#no neighbor 10.10.10.3 route-map HIGH-LP out

C)
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RB(config)#router bgp 65101
RB(config-router #neighbor 10.10.10.3 weight 50

D)

RC(config j#router bgp 65101
RC(config-router j#neighbor 10.10.10.6 route-map HIGH-LP out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 212

- (Exam Topic 3)

Refer to the exhibit.

ip
no
ip
ip
ip
ip
ip
ip
ip
ip
ip

interface Tunnell

address 172 .23.5.10 255.255.255.0
ip redirects

mtu 1420

authentication Cltrts8l

map multicast 192.168.200.1
map 172.23.5.1 192.168.200.1
network-id 10

holdtime 300

shortcut

network broadcast

priority O

tunnel source 192 .168.100.146

tunnel mode gre multipoint

tunnel key 100

nhrp
nhrp
nhrp
nhrp
nhrp
nhrp
ospf
ospf

A network engineer is adding a new spoke router into an existing DMVPN Phase 3 tunnel with a hub router to provide secure communication between sites Which
additional configuration must the engineer apply to enable the tunnel to come up?

A. ip nhrp registration no-unique
B. ip nhrp server-only non-caching
C. ip nhrp responder tunnel

D. ip nhrpnhs 172.23.5.1

Answer: D

NEW QUESTION 217

- (Exam Topic 3)

Lol: 192 168.1.55

255 255255128

Admin PC

ip address.
192 168.1.200
255 255 2556 128

aaa new-model

E

aaa aunthentication legin default line enable
2aa authorization commands 15 default local

4

!

username admin privilege 15 password ciscolZ3)
!

ip ssh version 2

I

access-list 101 permit teop 192 16E8.1.0 2.0
accessg=1list 101 permit teop 19%2.16E.5.0 C.0.
]

L oany eq 22
5 any rangs 22

line wty O 4
access-class 101 in
password cisco
transport input all
login local

G

=Mt

Refer to the exhibit. An engineer configured user login based on authentication database on the router, but no one can log into the router. Which configuration

resolves the issue?

A. aaa authentication login default enable
B. aaa authorization network default local
C. aaa authentication login default local
D. aaa authorization exec default local

Answer: C
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NEW QUESTION 221
- (Exam Topic 3)
Refer to the exhibit.

2001:088:-/64 2001:088::1/64 2001:DB8::2'64

X

SW2

W1 R1

An engineer must advertise routes into IPv6 MP-BGP and failed. Which configuration resolves the issue on R1?

A. router bgp 65000n0 bgp default ipv4-unicast address-family ipv6 multicast network 2001:DB8::/64

B. router bgp 65000n0 bgp default ipv4-unicast address-family ipv6 unicast network 2001:DB8::/64

C. router bgp 64900n0 bgp default ipv4-unicast address-family ipv6 unicast network 2001:DB8::/64

D. router bgp 64900n0o bgp default ipv4-unicast address-family ipv6 multicastneighbor 2001:DB8:7000::2 translate-update ipv6 multicast

Answer: B

NEW QUESTION 222

- (Exam Topic 3)

The network administrator configured R1 for Control Plane Policing so that the inbound Telnet traffic is policed to 100 kbps. This policy must not apply to traffic
coming in from 10.1.1.1/32 and 172.16.1.1/32. The administrator has configured this:

access-list 101 permit tcp host 10.1.1.1 any eq 23
access-list 101 permit tcp host 172.16.1.1 any eq 23
class-map CoPP-TELNET

match access-group 101

!

pelicy-map PM-CoPP

class CoPP-TELNET

police 100000 conform transmit exceed drop

!

control-plane

service-policy input PM-CoPP

The network administrator is not getting the desired results. Which set of configurations resolves this issue?

A. control-planeno service-policy input PM-CoPP!linterface Ethernet 0/Oservice-policy input PM-CoPP

B. control-planeno service-policy input PM-CoPP service-policy input PM-CoPP

C. no access-list 10laccess-list 101 deny tcp host 10,1,1.1 any eq 23access-list 101 deny tcp host 172,16.1.1 any eq 23 access-list 101 permit ip any any
D. no access-list 101access-list 101 deny tcp host 10,1.1.1 any eq 23access-list 101 deny tcp host 172.16.1.1 any eq 23 access-list 101 permit ip any
anylinterface EO/Oservice-policy input PM-CoPP

Answer: C
Explanation:

Packets that match a deny rule are excluded from that class and cascade to the next class (if one exists) for classification. Therefore if we don’t want to CoPP
traffic from 10.1.1.1/32 and 172.16.1.1/32, we must “deny” them in the ACL.

NEW QUESTION 225
- (Exam Topic 3)
Refer to the exhibit.
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I dauress 4+.4.4.4 £223.£22. 2220

I

interface FastEthernet1/0
Description *=* WAN link ***

ip address 10.0.0.1 255.255.2555.0
I

interface FastEthernet1/1
Description ** LAN Network *™**
ip address 192.168.1.1 255.255.2555.0
I

I

router ospf 1

router-id 4.4.4 4
log-adjacency-changes

network 4444 0000areal
network 10.0.0.1 0.0.00 area 0

network 192.165.1.1 0.0.0.0 area 10
1

A)

interface loopback0
ip address 4.4.4.4 255.255.255.0
ip ospf network broadcast

B)

interface loopback0
ip address 4.4.4.4 255.255.255.0
ip ospf interface type network

C)
interface loopback0
ip address 4.4.4.4 255.255.255.0
ip ospf network point-to-peint
D)

interface loopback0
ip address 4.4.4.4 255.255.255.0
ip ospf interface area 10

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 227
- (Exam Topic 3)
Refer to the exhibit.
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R2ishow ip algrp nalghbars
IP-EIGRP neighbors for process 100

H Addross Intorfaca Hold Uptime SRTT RTO (0 Seq

[8ec) ins) Cot Num
1 192.168.10.1 Sel/0 12 00:00:139 1 5000 2 O
“Jan 1 15:40:20.295: VDUAL=-5=NBRCHANGE: IP-EIGRP(0) 100: Xeighbor 192.168.10.1 (Seriall/0) is down: retry limit exceeded
*Jan 1 15:40:51.567: ADUAL=5-NBRCHANGE: IP-EIGRP(0) 100: Nelghbor 192.168.10.1 (Seriall/0) is up: new adjacency
*Jan 1 15:42:11.107: ADUAL-3-NBRCHANGE: IP-EIGRP(0) 100: Nelghbor 192.168.10.1 (Seriall/0) is down: retry limit exceeded
*Jan 1 15:42:14.879: ADUAL-5-NRRCHANGE: IP-RIGRP(0) 100: Neighbor 192,168.10.1 (Seriall/0) is up: now adjaconcy

Rifshow ip algrp nalighbors
1P-EIGRP noighbors for process 100

Rl Confiquration:
key chain cisco
key 2
key-string abc
|
interface Loopback0
ip address 10.10.1.1 255.255.255.0
!
interface Seriall/0
ip address 192.168.10.1 255.255.255.0
ip suthentication mode eigrp 100 md5
ip authentication key-chain eigrp 100 cisco
serial restart-delay 0
]
router eigrp 100
network 10.10.1.0 0.0.0.255
network 192.168.10.0
no auto-summary

R2 confiquration:
key chain cisco
key 1
key-string 123
kay 2
key-string abc
!
interface Loopback0
ip address 10.10.2.2 255.255.255.0
!
interface Seriall/0
ip address 192.168.10.2 255.255.255.0
ip authentication mode eigrp 100 md5
ip authentication key-chain eigrp 100 cisco
no fair-queus
:
router eigrp 100
network 10.10.2.0 0.0.0.255
network 192.168.10.0
no auto-summary

R1 and R2 are configured for EIGRP peering using authentication and the neighbors failed to come up. Which action resolves the issue?

A. Configure a matching key-id number on both routers

B. Configure a matching lowest key-id on both routers

C. Configure a matching key-chain name on both routers
D. Configure a matching authentication type on both router

Answer: A

NEW QUESTION 231
- (Exam Topic 3)

How is a preshared key "Test” for all the remote VPN rooters configured In a DMVPN using GRE over IPsec set up?

A. authentication pre-share Test address 0.0.0.0 0.0.0.0
B. set pre-share Test address 0.0.0.0 0.0.0.0

C. crypto Ipsec key Test address 0.0.0.0 0.0.0.0

D. crypto isakmp key Test address 0.0.0.0 0.0.0.0

Answer: D

NEW QUESTION 232
- (Exam Topic 3)
Refer to the exhibit.
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Rlsh ip route
Codes: [ - local, C - connected, 5 - static, R - RIF, M - mohile, B - BGP
0 - EIGRP, EX - EIGR? external, O - QSPF, IA - QSPF inter area
N1 = DSPF NSSA external type 1, N2 - DSPF NSSA external type 2
El - (SPF external type 1, B? - OSPF external type 2
1 - I5-I5; su - I5=I5 summary, L1 - I5-I5 level-1,

ia - 15-15 inter area, * - candidate default, U - per-usar static route

A - -
LZ = I5-T5 lovel-=:

- QR P - periodic downloaded static route; H - NHRP, 1 - LISP
| = application route
t = renlicated route, ¥ - next hop override, p - overrides [rom PR

Gateway of last resert is not aet

b 10.0.0.0/8 [90/409600) wia 172.16.1.20Q, 00:00:28, Ethernetd/0
172,16.0,0/16 i3 variably subnetted, 2 subnets, 2 masks
{ 172, 16,1.0/24 is directly connected, Ethernet(/0
172,16.1,100/32 is directly connected, Ethernet(/(

152.168.1.0/24 is wariably subnetted, 2 subnets, 2 masks
C 192,168.1,0/24 is directly connected, Loopback(

192,168.1,100/32 is directly connected, Loopback(

The R2 loopback interface is advertised with RIP and EIGRP using default values. Which configuration changes make R1 reach the R2 loopback using RIP?

A. R1(config)# router rip R1(config-router)# distance 90

B. R1(config)# router rip R1(config-router)# distance 100

C. R1(config)# router eigrp 1R1(config-router)# distance eigrp 130 120
D. R1(config)# router eigrp 1R1(config-router)# distance eigrp 120 120

Answer: C

Explanation:

distance (AD Number u want to change to) (neighbor IP) (Wildcard Mask) (access-list number)

NEW QUESTION 237
- (Exam Topic 3)

Rlé#sh run | section eigrp
router eigrp 10

network 10.10.10.0 0.0.0.255

no auTo-SUrmary

neighbor 10.10_.10.2 FastEthernet0/0
neighbor 10.10.10.3 FastBEthernecl/0

&

Elfshow ip eigrp neighbors
IP-EIGRP neighbors for process 10

H Address Interface Hold Uptime SETT RTO 2
Sedq

[sec) ms) Cnt
Num
1 10.10.10.2 Fal/0 10 00:01:01 iz

| % g
e Lab
b [

10.10.10.3 Fals0 10 00:01:02 43

Refer to the exhibit The remote branch locations have a static neighbor relationship configured to R1 only R1 has successful neighbor relationships with the

remote locations of R2 and R3, but the end users cannot communicate with each other. Which configuration resolves the issue’

R

interface FasiEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.2 255.255.255.0

Ra
[nterface FastEthernetDiD.10

encapsulation dot1Q
ip address 10.10.10.3 255.255.255.0
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RZ

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.2 255.256.255.0

R3

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.3 255.256.255.0

R2

interface FastEthernet0/0.10
encapsulation dot1Q 10

ip address 10.10.10.2 265.266.265.0

R3
interface FastEthernet0/0.10

encapsulation dot1Q 10
ip address 10.10.10.3 255.265.265.0

RZ and R3
interface FastEthernetd/0
no ip split-horizen eigrp 10

R1
interface FastEthernetl/0
no ip split-horizon eigrp 10

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: E

NEW QUESTION 239
- (Exam Topic 3)

AS 1000 _

40) " A (10
(.10} R._{}

255,

Internet Cloud

192.1’63.11.&."2\

192.168.101.0124 {z.wmuzum
AS100 () 7 2
5P | ) (M2 1sp2
, Ry & L% ik Fa
AN 2

Amﬂz.om

AS 111
Ek:'\ P A]H
(111) RS ()

Customer Edge

ISP-1

!
router bop 100

ip as-path access-list 1 permit “111

neighber 192.168.101.10 remgte-as 1000
neighber 192.168.11.111 remdte-as 111
neighbor 192.168.11.111 filter-list 1 in

Refer to the exhibit. AS 111 mut not be used as a transit AS, but ISP-1 is getting ISP-2 routes from AS 111. Which configuration stops Customer AS from being

used as a transit path on ISP-1?

A. ip as-path access-list 1 permit *$

B. ip as-path access-list 1 permit_111
C. ip as-path access-list 1 permit.”

D. ip as-path access-list 1 permit ~111$

Answer: A

NEW QUESTION 242
- (Exam Topic 3)
Refer to the exhibit.
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no ip address

ne shutdown
i

ne shutdown

interface GigabitEthernet2

ip helper-address 192.168.255.3

interface GigabitEthernetz2.10
encapsulation detlQ 210

ip address 192.168.210.1 255.255.255.0
ip ospf 1 area 0

With the partial configuration of a router-on-a-stick. Clients in VLAN 10 on Gi2 cannot obtain IP configuration from the central DHP server is reachable by a
successful ping from the route. Which action resolves the issue?

A. Configure the ip/ip/dhcp pool f and network 192.168..210.0.255.255/0 commands.

B. Configure the ip header-address 192-168.265.3 command on the Gi2 10 subinterface.

C. Configure a valid IP address on the Gi2 interface so that DHCP requests can be forwarded.
D. Configure the Ip dhcp excluded-address 192.168.255.3 command on the Gil.10 subinterface.

Answer: B

NEW QUESTION 246
- (Exam Topic 3)
Refer to the exhibit.

CTEl ahow ntp associations ‘

ddrens rol &Lk it wihe

An administrator is troubleshooting a time synchronization problem for the router time to another Cisco IOS XE-based device that has recently undergone

hardening. Which action resolves the issue?

A. Allow NTP in the ingress ACL on 10.1.225.40 by permitting UDP destined to port 123.
B. Ensure that he CPE router has a valid route to 10.1.255. 40 for NTP and rectify if not reachable.

C. NTP service is disabled and must be enabled on 10.1.225.40.

D. Allow NTP in the ingress ACL on 10.1.255.40 by permitting TCP destined to port 123.

Answer: C

NEW QUESTION 248
- (Exam Topic 3)

RBfshow ip bgp 172.16.16.1
BGP routing table entry for 172.16.16.1/32, wersion 11
Paths: (1 available, no best path)
Hot advertised to any peesr
Loocal
10.10.10.5 (meatric 3) from 10.10.10.5 (172.16.16.1)
Origin IOP, matric 0, localpref 100, walid, intarnal, not aynchronized

EDdtraceroute 172.16.16.1

Tracing the routs to 172.16.16.1
1 10.0.0.10 [MPFLS: Label 29 Exp 0] 64 maec 56 maec 60 maec
2 10.0.0.21 60 masc 56 maec T2 maec

i | ® Ll -

' > Spoke

172.16.26.1
~ 10.0.0.4/30 U
10. !IillI 10.2 b lﬂ.lﬂ.!ﬂ.-l-
n pul"’“ 10.10.10.3 "’-%ﬂ —
ki ’ ;p
10.10.10.1 IL, 10.10.10.5 10.10.10.6 » ol o

J"a. ~ B
o U - .
¥ 10.0.0.16/30

=
172.16.16.1 - >  BGP Peers
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P Bl e -
-
- 10.0.0.4/30 —
~p 1010102 ‘ﬂ-a.;;"“' & 1010104
" ol i 10.10.10.3 “4/39
o0
2 y a0
10.10.10.1 qqﬂ 10.10.10.5 10.10.10.6 _ uu-"-“‘ v
e, ™ 3 A7 18 " 0¥
* - L
10.0.0.16/30 -
= P -
172.16.16.1 . R—
- + -+ L
BGP 65101 BGP 65201

Refer to the exhibit A customer reported an issue with a fiber link failure between RC and RE Users connected through the spoke location face disconnection and
packet drops with the primary email server (172.16.16.1) but have no issues with the backup email server (172.16.26.1). All the router loopback IPs are advertised
through the OSPF protocol. Which configuration resolves the issue?

RB{config)#router bgp 65101
RB{config-router #¥no synchronization

RC{config)#router bgp 65101
RC(conhg-router j#neighbor 10.10.10.2 next-hop-self

RB(config j#router bgp 65101
RB{config-router @nelghbor 10.10.10.5 next-hop-self

RC(config#router bgp 65101
RC{config-rouler#no synchronization

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 250
- (Exam Topic 3)

Area 1 OSPF Area 0

. H - RE.

.:,":. Cost 4[} 1 - Cost 10 . ‘:;

R4 . { = -

Cost 40 10.10.10.0/24 . |cost 40 Cost 10

R2 R

R3 /X, Costdd [ w/A Cost10 [/

W R, — AN 4t

10.10.20.0/24

Refer to the exhibit Which action ensures that 10 10 10 0/24 reaches 10 10 20 0/24 through the direct link between R1 and R2?

A. Configure R1 and R2 LAN links as nonpassive.

B. Configure R1 and R2 links under area 1

C. Configure OSPF link cost to 1 between R1 and R2
D. Configure OSPF path cost to 3 between R1 and R2

Answer: B

NEW QUESTION 252

- (Exam Topic 3)

An engineer configures PBR on R5 and wants to create a policy that matches traffic destined toward 10.10.10.0/24 and forward 10.1.1.1. The traffic must also
have its IP precedence set to 5.All other traffic should be forward toward 10.1.1.2 and have its IP precedence set to 0.Which configuration meets the
requirements?

A. access-list 1 permit 10.10.10.0 0.0.0.255 access-list 2 permit anyroute-map CCNP permit 10 match ip address 1set ip next-hop 10.1.1.1 set ip precedence
5lroute-map CCNP permit 20 match ip address 2set ip next-hop 10.1.1.2set ip precedence Oroute-map CCNP permit 30

B. access-list 100 permit ip any 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 100 set ip next-hop 10.1.1.1 set ip precedence O!route-map
CCNP permit 20 set ip next-hop 10.1.1.2set ip precedence 5!route-map CCNP permit 30

C. access-list 1 permit 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 1set ip next-hop 10.1.1.1 set ip precedence 5!route-map CCNP permit 20
set ip next-hop 10.1.1.2set ip precedence 0

D. access-list 100 permit ip any 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 100 set ip next-hop 10.1.1.1 set ip precedence 5!route-map
CCNP permit 20 set ip next-hop 10.1.1.2set ip precedence 0
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Answer: D

NEW QUESTION 256
- (Exam Topic 3)

Router) shew logging

verruns, xzl disabled, <iltering disabled)

Ko AStive Message Discriminator.

fic Inactive Message Discriminmator.

~LNs0le logging: leve. dedugging, & Des

Momitor logoing: level debugging, 0 mes

Filramimm dim

bk g u.-ﬁ:’-‘.:

Exception Logoing: size (8194 Dytes)

recalatent logging: disabled

Syslcg logging: ensbled (0 :esasages dripped,

Count and tizestaEp logolng messages: dl

-

sages logged, xmi disabled,

L

jages :I?;!l, o, Cl3abl

13g9es logged, mmi dlsabled,

] 3essages pate-limited, 0 Jlushes

Refer to the exhibit. A network engineer lost remote access to the router due to a network problem. The engineer used the console to access the router and
noticed continuous logs on the console terminal. Which configuration limits the number of log messages on the console to critical and higher seventy level

messages?

A. term no monitor

B. logging console 2
C. no logging console
D. logging console 5

Answer: D

NEW QUESTION 257
- (Exam Topic 3)

.1jdn'r|'rr'“r'f 15 up, ]"1-ﬁrn1wrn| 5 0
Interret address 1/2.16.1.42/30, Interface ID
Attached via Network STatement
Frocess 1D 1, Router ID 1/2.16,100.7, Network
Topology-MTID  Cost  Disabled  Shutdowr

] r il
Tramsmit Delay 15 1 sec, State DR, Prior
pesigrated Router (I10) 172.16.100,7, Inte

= =

il
T

Sackup Designated router (I0) 172.16.100.5, 1
timer intervals confloured, welloa 10, Dead 40
wb-resyne tiseout 40
Wello due In 00;00:01

Ne1ghbor Count 15 1, Adjacent nelghbor count
Agjacent with nelghbor 172.16.100.5 (Backup

uppress hella for O neighbor(s

Cryptographic authentication enabled

cending Sa: key 1, algorithe MMal - SHA- 256
Rollover in progress, 1 neighbor(s) using th
ey 'a ] dlgoriTha MDS
C5al0de '
(SR103r
C5a103esh 1p ospf ne1
seighbor 10 Pri  State Dead Time
172.16.100. 3 1 FuULL DR 0000 30
172.16.100. 5% 1 FOLL,BDR 000z 18
CSR1030
Csnl0ir

T

1an 11 16:49: 55, 3117 NSY5-0-L 060 S6r acein
Jan 11 16:49:45, 396: NOSPF-5-ADICHG: ProCess 1,
3 To (0, H*'ﬂ“?f“ Down: DeAd Timer expired

5, drea 1l

Typeé BROADCAST, Cost: |
Topology Name

Rase
¢ address 172.16.1.40
nterface address 1./2.16.1.41
, WAL 40, Retransmir §

g 1
»

Des ignated Router)

key chain ospf
e old key(s);

Address Interface
172.16.1.25 GigabitEthernet]
16.1.41 Glgabitithernet?

has exted tty sesston 1(10. 218,20
Mbr 172.16.100.5 on oigabitethernet

f

rim

Refer to the exhibit. Which configuration resolves the issue?

A)
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router ospf 1

area 1 authentication message-digest
int GigabitEthernet 2

ip ospf message-digest-key 1 md5 cisco

B)

int GigabitEthernet 2

ip ospf message-digest-key 1 md5 cisco

ip ospf authentication message-digest
C)

int GigabitEthernet 2
ip ospf key 1 cisco
ip ospf authentication

D)
key chain ospf
key 1
key-string 7 02050D480809
cryptographic-algorithm hmac-sha-1
interface GigabitEthernet2
ip ospf authentication key-chain ospf

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 260
- (Exam Topic 3)

VLANZ00

DHCP
SERVER

Refer to the exhibit. APC is configured to obtain an IP address automatically, but it receives an IP address only from the 169.254.0.0 subnet The DHCP server logs
contained no DHCPDISCOVER message from the MAC address of the PC. Which action resolves the issue?

A. Configure an ip helper-address on the router to forward DHCP messages to the server.
B. Configure DHCP Snooping on the switch to forward DHCP messages to the server.

C. Configure a DHCP reservation on the server for the PC.

D. Configure a static IP address on the PC and exclude it from the DHCP pool.

Answer: A

NEW QUESTION 264

- (Exam Topic 3)

Which control plane process allows the MPLS forwarding state to recover when a secondary RP takes over from a failed primary RP?
A. MP-BGP uses control plane services for label prefix bindings in the MPLS forwarding table

B. LSP uses NSF to recover from disruption *i control plane service

C. FEC uses a control plane service to distribute information between primary and secondary processors
D. LDP uses SSO to recover from disruption in control plane service

Answer: C

NEW QUESTION 267

- (Exam Topic 3)

Which method provides failure detection in BFD?

A. short duration, high overhead
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B. short duration, low overhead
C. long duration, high overhead
D. long duration, low overhead

Answer: B
NEW QUESTION 270

- (Exam Topic 3)
Refer to the exhibit.

Fl#show ip route ospf
10.2.0.0/24 ia subnetted, 7 subnets

0 E2 10.4.9.0 [110/200)] wia 10.4.17.6, 00:06:43,

[110/200] wia 10.4.15.5, 00:06:43,
FaztEthernet(/1
0 IA 10,.4.27.0 [110/2] wia 10.4.15.5, 00:06:44,
FastEthernet(/1
0 Ed 10.4.4%.0 [110/200] wvia 10.4.17.6, 00:06:43,
FastEthernetl/

An engineer configures two ASBRs 10 4 17.6 and 10 4 15 5 in an OSPF network to redistribute routes from EIGRP However, both ASBRs show the EIGRP routes
as equal costs even though the next-hop router 10 4 17 6 is closer to R1 How should the network traffic to the EIGRP prefixes be sent via 10 4.17.6?

A. The administrative distance should be raised to 120 from the ASBR 10.4.15 5.

B. The redistributed prefixes should be advertised as Type 1

C. The ASBR 10 4 17 6 should assign a tag to match and assign a lower metnc on R1
D. The administrative distance should be raised to 120 from the ASBR 104.17.6

E. The admitstrative distance should be raised to 120 from the ASBR 104 15.5.

F. The redistributed prefixes should be advertised as Type 1.

G. The ASBR 10 4 17 6 should assign a tag to match and assign a tower metnc on R1
H. The administrative distance should be raised to 120 from the ASBR 104 17 6

Answer: B
NEW QUESTION 271

- (Exam Topic 3)
Refer to the exhibit.

R{configi#ipvG prefix-list PRE-PEND-PREFIX permit 2001.db8:0;a::64
Ri(configiroute-map PRE-PEND permit 10

H{conlig-raute-map dmatch ipvi address preficlist PRE-PEND-PREFIX
R canfig-roule-mapitsel as-path prepend 65412
RA{config ¥Wrouler bgp 68412

R 1{conhg-router#address-Temily pve
R1(config-router-af#neighbor 2001 dbil 02202 roulc

map PRE-FEMND oul

R1 has a route map configured, which results in a loss of partial IPv6 prefixes for the BGP neighbor, resulting in service degradation. How can the full service be
restored?

A. The neighbor requires a soft reconfiguration, and this will clear the policy without resetting the BGP TCP connection.

B. The prefix lit requires all prefixes that R1 is advertising to be added to it, and this will allow additional prefixes to be advertised.
C. The route map requires a deny 20 statement without set conditions, and this will allow additional prefixes to be advertised.

D. The route map requires a permit 20 statement without set conditions, and this will allow additional prefixes to be advertised.

Answer: D
NEW QUESTION 274

- (Exam Topic 3)
Refer to the exhibit.

] |

:nIJ Lnn ) I
VLANGG | VLAN1O
——J

UserPC & Floor SW1 DHCP Seryer

&_Floor_SW1N 10.221.10.10
I

interface VLANAE

p address 10.221.46.]1 255.255.255.0
[

eno

Users in VLAN46 cannot get the IP from the DHCP server. Assume that all the parameters are configured properly in VLAN 10 and on the DHCP server Which
command on interlace VLAN46 allows users to receive IP from the DHCP server?

A. ip dhcp-addreos 10.221.10.10
B. ip dhcp server 10.221.10.10
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C. ip helper-addrets 10.221.10.10
D. ip dhcp relay information trust-all

Answer: C

NEW QUESTION 276
- (Exam Topic 3)
What is an advantage of implementing BFD?

A. BFD provides faster updates for any flapping route.

B. BFD provides millisecond failure detection

C. BFD is deployed without the need to run any routing protocol
D. BFD provides better capabilities to maintain the routing table

Answer: B
NEW QUESTION 281

- (Exam Topic 3)
Refer to the exhibit.

access-list 1 permit 209.165.200,215
access-list 2 permit 209.165.200.216
]

interface ethernet 1

ip policy route-map Texas

!

route-map Texas permit 10

match ip address 1

set ip precedence priority

set ip next-hop 209.165.200.217

!

route-map Texas permit 20

match ip address 2

set ip next-hop 209.165.200.218

Packets arriving from source 209.165.200.215 must be sent with the precedence bit set to 1, and packets arriving from source 209.165.200.216 must be sent with
the precedence bit set to 5. Which action resolves the issue?

A. set ip precedence critical in route-map Texas permit 10
B. set ip precedence critical in route-map Texas permit 20
C. set ip precedence immediate in route-map Texas permit 10
D. set ip precedence priority in route-map Texas permit 20

Answer: B

NEW QUESTION 284
- (Exam Topic 3)
Refer to the exhibit.

ipve dhep server:

ipvE unicast-routing

!

int eyl

ipve enable

ipve add 2001:11::1/64
ipvt nd other-config-flag
no shiut

ipve dhcp server IPvEPool
!

ipve dhcp pool IPvaPool
dns-server 2002:555:11

demain-narme my.nel

ipvs dhep client:

interface Ethernetdy/1
no ip address

ipve address dhep
ipvE enable
no shut
ipvt dhop client ipvt dhep server
—
= ==
RI R2 |

A network administrator is troubleshooting IPv6 address assignment for a DHCP client that is not getting an IPv6 address from the server.
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Which configuration retrieves the client IPv6 address from the DHCP server?

A. ipv6 address autoconfig command on the interface

B. ipv6 dhcp server automatic command on DHCP server
C. ipv6 dhcp relay-agent command on the interface

D. service dhcp command on DHCP server

Answer: A

NEW QUESTION 286

- (Exam Topic 3)

A DMVPN network is preconfigured with tunnel O IP address 192.168.1.254 on the HUB, IP connectivity, crypto policies, profiles, and EIGRP AS 100. The NHRP
password is ccnp123, and the network ID and tunnel key is EIGRP ASN Do not introduce a static route. Configure DMVPN connectivity between routers BR1 and
BR2 to the HUB router using physical interface as the tunnel source to achieve these goals:

LA ALY [E=Eo1 Lt ] L

fny
SErvEr
S 72 16 0 124
EQD
172 18.0.0/24
54| Enm
Tunnall: 192 168 1.254/24 m L 10.10.1.1/32
254 | EON
11 2]
10 10256 (h2a
.-'-I "\-\.
Vi \
)' N
y,
ra

Tuneld: 192.188.1 1724 '/ EON

Lo 10 10. 10132 SR

SE4 E0D
17216 1. 024
1] Envo
5:1':!1-W|
|
L eines lopoiggy lasks

A DMYPM network 15 o ecaonfigured with tunnel O IP address
192.168.1.254 on the HUB. |P connectraty, crypto policies
prafiles, and EIGRP AS 100, The NHRP password is cenpi23
and the network 1D and tunnel key is EIGRP ASN. Do not
introduce a static route. Configure DMWYPN connectivity between
routers BR1 and BR2 1o the HUB router using physical interface

as the tunnel source 1o achieve these goals

1. Configure NHRP authentication, static |P-to-NBMA address
maps, hokd tima 5 minutes, network 1D, and server on
branch router BR1

2. Configure NHEP authentication, static IP-to-NBRMMA address
maps,. hold time 5 minutes, network 1D, and server on
branch router BR2

3. Ensure that packet fragmentation s done before encryption
1o account for GRE and IPsec header and allow a maximum
TCP segment size of 1360 on an IP MTU of 1400 on the
tunnel interfaces of both branch routers

4. Apply an IPsec profile to the tunnel. Verify that direct spoke-
to-spoke tunnel is functional betwean branch routers BR'Y

 — -l 'S o S i i S—" - R— o —. 2 S— i S —" o S— i |
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Turnsl 182 188 1.1/24 1 S Eon goin v 2 Twnneld BB 1224
1010 1732 ST e 0102332
25q | B0 EDD |.254
b 182 04
' eat ED
Limaiy | BR2-SW |
Topology Diagram
r e
EBCTIVITY, GRypd CHIC arafiles, and ENGI S 100, The NHRP password s EE"F:'E:J-
1ebwork 10 and tunnel ke y i EIGRP ASN .
vily betweean routers BF i BRZ 1o the HUB & I using physica el 35 1
HEF autl |E I
T ar
C MNHREF autl |
e D
E | all I 1 = ) =]
I i I - I ¥ £ [ " ] |
! nict
A F i he y -
betwe = IR TR BR1a BR2 | racaerns o Etherne 0 100 s toaeta

A. Mastered
B. Not Mastered

Answer: A

Explanation:
ON BR1

Current ccnf;gurutiun = 405 hytns
1
interface Tunnell
ip address 192.168.1.1 2
no ip redirects
ip mtu 1400
ip nhrp authentication conpli3d
ip nhrp map 192.1 1.254 10.10.255.254
ip nhrp map sulticast 10.10.255
ip nhrp network=id 100
ip nhrp holdtime 5
ip nhrp nhs 1 168.1.254
ip nhrp shortent
ip tep adjust-maa 1360
delay 1000
tunnel ag
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e a - —— N
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NEW QUESTION 288
- (Exam Topic 3)

ﬂl;ﬂ £0y0

EO/1 E0/0 |uh'ﬁl4’

L4

Rl [DHCP Server)

U4y

Switch M1 (DHCP Client)

Refer to the exhibit. The client server but the show command does not show the IPv6 DHCP bindings on the server. Which action resolves the issue?

A. Extend the DHCP lease time because R1 removed the IPv6 address earlier after the lease expired.
B. Configure H1 as the DHCP client that manually assigns the IPv6 address on interlace e0/0..

C. Use the 2001:DBB:BAD:CODE::/64 prefix for the DHCP pool on R1.

D. Configure authorized DHCP servers to avoid IPv6 addresses from a rogue DHCP server.

Answer: C

NEW QUESTION 289
- (Exam Topic 3)
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Refer to the exhibit. Which configuration resolves the IP SLA issue from R1 to the server?

A. R6(config)#ip sla responder

B. R6(config)#ip sla responder udp-echo ipaddress 10.60.60.6 po 5000
C. R6(config)#ip sla 650 R6(config-ip-sla)ff udp-jitter 10.60.60.6

D. R6(config)#ip sla schedule 10 life forever start-time now

Answer: A
NEW QUESTION 290

- (Exam Topic 3)
Exhibit.

R2§ show ip eigrp topology 10.1.3.0 255.255.255.0

IP-EIGRF (AS 1) : topology sntry for 10.1.3.0/24
State is Fassive, Query origin flag is 1, 1 Successor(s), FD is 307200
Routing Descriptor Blocks:
10.1.2.3 (Ethernetd), from 10.1.2.3, Send flag is Oxd
Compoaite metric is (307200/281600), Routs i3 Intarnal
Vector matric
Minimum bandwidth i3 10000 Xbit
Total delay is 2000 microseconds
Reliability is 255/255
Load is 1/255
Mini=aes MTU i3 1500
Hop count 13 1
10.1.2.4 (Ethernatl), from 10.1.2.4, Send flag is OxD
Composite metric is (312320/286720), Routs i3 Internal
Vector matric
Mini=u=m bandwidth is 10000 Kbit
Total delay is 2200 microsesconds
Reliability is 255/25%
Load is 1/255
Mini=aem MTU i3 1500
Hop count is 1
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Refer to the exhibit. A network is configured for EIGRP equal-cost load balancing, but the traffic destined to

the servers is not load balanced. Link metrics from router R2 to R3 and R4 are the same. Which delay value must be configured to resolve the issue?

A. 208 oon R3 E0/0
B. 120 on R4 EO/1
C. 120/on R3 EO/1
D. 2200 on R4 EO0/1

Answer: C

NEW QUESTION 294
- (Exam Topic 3)
Refer to the exhibit.
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An engineer implemented CoPP but did not see OSPF traffic going through it. Which configuration resolves the issue?

A. ip access-list extended OSPF permit ospf any any

B. policy-map COPP class OSFP police 8000 conform-action transmit exceed-action transmit violate-action drop

C. control-plane service-policy input COPP
D. class-map match-all OSFP match access-group name OSPF

Answer: B
NEW QUESTION 297

- (Exam Topic 3)
Refer to the exhibit.
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Refer to the exhibit
R1 cannot authenticate via TACACS
Which configuration resolves the issue?

aaa group server tacacs+ DC_TACACS
server name DC_TACACS

tacacs server DC1_TACACS
address ipv4 10.66.66.66
key D@t@cinter1 TACACS

aaa group server tacacs+ DC1_TACACS
server name DC_TACACS

tacacs server DC1_TACACS
address ipv4 10.60.66.66

key D@t@cinter1 TACACS

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 298
- (Exam Topic 3)
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10.10.11.0/724

10.10.1.0/34 + 11 1.2.15!‘.:““-”‘1‘
Mew ISP WAN Cloud
10.10.12.0/24
Spoke2
R1 R2 R}
interface TunnelD intarfece Tonnall interface Tenneld
ip addreas 172.10.5.1 253.335.253.0 ip address 172.19%.3.7 235 333 .255.0 ip address 172.18.5.3 253 235 .255.0
ip nhrp suthentication c#lidco ip nhrp suthentication t#liscd ip nhrp suthsntication tEliSCH
ip nhep map sulticast dynamic ip nhrp map sulticast 162, 148.100.11 ip nhrp map suiticast 182, 168.100.11
ip nhrp network-1id 10 ip nhrp map 172.19.5.1 1%2.168.100.11 ip nhrp map 172.19%.5.1 192 .168.100.11
ip ospl network brosdcast ip nhrp oetwork-id 19 ip nhrp metwork-id 10
ip ospl priovity 233 ip ospl network brosdoast ip ospl network brosdcast
source 192 168.100.11 ip ospf prisrity @ ip ospi priority @
turnal sods gre sulcipolst tonnal source 152 168_100.13 tumnal sourcs 192 . 168.100.13
tumnal key 100 tunnal destimatien 197 168.1040.11 tunnal destinatiesm 193168, 100 11
runnal kay 100 rumnal ey 100

Refer to the exhibit. An organization is installing a new L3 MPLS link to establish DM VPN Phase 2 tunnels between the hub and two spoke routers Which
additional configuration should the engineer implement on each device to achieve optimal routing between the spokes?
A)
interface Tunnel0
no tunnel destination 192.168.100.11

tunnel mode mplis traffic-eng

B)
interface Tunnel0

ip ospf priority 1

ip ospf network non-broadcast

C)

interface TunnelO
no tunnel destination 192.168.100.11
tunnel mode gre multipoint

D)

interface Tunnel0
ip ospf priority 253
ip ospf network point-to-multipoint

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
NEW QUESTION 301

- (Exam Topic 2)
Exhibit:

:_I..'ull. DHA B G Bl e -

maR W

T Lrn. L Excessive time lag betwoen Cisco DNA Center and WLC * WLC-5%20°

By

I Dreséniptian

RBuggesied Aetians (1)

NTP is configured across the network infrastructure and Cisco DNA Center. An NTP issue was reported on the Cisco DNA Center at 17:15. Which action resolves
the issue?
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A. Check and resolve reachability between the WLC and the NTP server

B. Reset the NTP server to resolve any synchronization issues for all devices

C. Check and resolve reachability between Cisco DNA Center and the NTP server
D. Check and configure NTP on the WLC and synchronize with Cisco DNA Center

Answer: D

Explanation:

Excessive time lag between Cisco DNA Center and device: The time difference between Cisco DNA Center and the device IP Address has drifted too far apart.
CiscoDNA Center cannot process the device data accurately if the time difference is more than 3 minutes.

Reference:

https://www.cisco.com/c/en/us/td/docs/cloud-systems-management/network-automation-and-management/dna-c

NEW QUESTION 305
- (Exam Topic 2)
Refer to the exhibit.

ipv6 access-list inbound
permit tcp any any

deny ipvé any any log

|

interface gi0o/0

ipvé traffic-filter inbound out

A network administrator configured an IPv6 access list to allow TCP return frame only, but it is not working as expected. Which changes resolve this issue?

ipv6 access-list inbound
permit tcp any any established
deny ipv6 any any leg
!
interface gi0/o

ipv6 traffic-filter inbound out

ipv6 access-list inbound
permit tcp any any syn
deny ipvh any any log
!
interface gi0/0
ipv6 traffic-filter inbound out

ipv6 access-list inbound
permit tep any any established
deny ipvB any any log
!
interface gi0/0

ipv6 traffic-filter inbound in

ipv6 access-list inbound
permit tcp any any syn
deny ipv6 any any log
!
interface gi0i0
ipv6 traffic-filter inbound In

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
Explanation:

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst3750/software/release/122_55 se/configuration/guid

NEW QUESTION 307
- (Exam Topic 2)
Refer to the exhibit.

ipvé access-list INTERNET

permit ipve 2001:DBE:ADSS:BAZ2l::/64 2001:DBE:COAB:BRl14::/ /64

permit tep Z2001:0BS:ADSS:BAZl::/64 2001:0BE;COAB:BAl3::/€4 =g telnet
permit tep 2001:DB8:RADES:BR21::/64 any eg http

permit ipve 2001:DBE:ADS9::/48 any

deny 1pveé any any log

When monitoring an IPv6 access list, an engineer notices that the ACL does not have any hits and is causing unnecessary traffic to pass through the interface
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Which command must be configured to resolve the issue?

A. access-class INTERNET in

B. ipv6 traffic-filter INTERNET in
C. ipv6 access-class INTERNET in
D. ip access-group INTERNET in

Answer: C
NEW QUESTION 312

- (Exam Topic 2)
Refer to the exhibit.

*Jun 24 08:34:51 530 IF-EvDGigabitEthernetdi0) IP Routng reports state transition from DOWN to DOWN

*Jun 24 08:54:52 525 %LINEPROTO-5-UPDOWN: Line protocal on Interface GigabilEthernatVD, changed state ta down
Jun 24 08:54:52.528: [F-EvD{GigabiEthernetlf0): IP Routng reporns state transition from DOWN to DOWN

*Jun 24 08:54°53 215 IF-EvDGigabitEthernatl'D]: IP Routing reports state transition from DOWN to DOWN

*Jun 24 08:54 54 998 %LINK-3-UPDOWHN: Interface GigabilEtharnetdil, changed state to up

*Jun 24 08:34.55.008. IF-EvD{zigabinEthernetV0]: IP Routing reports state ransition from DOWN to UP

“dun 24 08:94:50 998, RLINEPROTO-2-UFLDOWN: Line protocol on Interface GigabitEthermatli0, changed state to up

R1 is connected with R2 via GigabitEthernet0/0, and R2 cannot ping R1. What action will fix the issue?

A. Fix route dampening configured on the router.

B. Replace the SFP module because it is not supported.
C. Fix IP Event Dampening configured on the interface.
D. Correct the IP SLA probe that failed.

Answer: C

Explanation:

The [P Event Dampening feature introduces a configurable exponentisl decay mechanism to suppress the eflects of encessne interface flapping sverts on rouling
protocols and rouing tables in the netwek. This feature allows the retwork operator 1o configure a router o sutomatically identify and selectively dampen 3 local
Interface that s flapping

NEW QUESTION 315
- (Exam Topic 2)

&1
interface Loopback(

ip address 172.16 1.1 233 233 235 233
interface FastEthernetl/0

ip addreas 1% 168.12.1 235 233 233%.0
router sigrp 100

no AUto-SUMmATY

network 192 168 12 0

natwork 172.16.0.0

neighbor 19%2 168 12 2 FastEthernetd/0

M.
intarface Loopback(

ip address 172 .16 2 2 ZI33 233.2133 233
intarface FastEthernatl/0

ip address 19%2 168.12 2 233 233 _233.0
router aigrp 100

network 192 168 12 0

network 172.16.0.0

neighbor 192 168 12 .1 FastEthernet(/0

passive-interface FastEthernetl/0

Refer to the exhibit. R1 and R2 cannot establish an EIGRP adjacency. Which action establishes EIGRP adjacency?

A. Remove the current autonomous system number on one of the routers and change to a different value.

B. Remove the passive-interface command from the R2 configuration so that it matches the R1 configuration.
C. Add the no auto-summary command to the R2 configuration so that it matches the R1 configuration.

D. Add the passive-interface command to the R1 configuration so that it matches the R2 configuration.

Answer: B
NEW QUESTION 317

- (Exam Topic 2)
Refer to the exhibit.

admin@linux:~5 sep script.py adminfl98.51.100.€64:script.py
Password:

Bdministratively disabled.

admin@linux:~$ Connection to 19%8.51.100.&4 clo=ed by remote
host.
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A network administrator has developed a Python script on the local Linux machine and is trying to transfer it to the router. However, the transfer fails. Which action
resolves this issue?

A. The SSH service must be enabled with the crypto key generate rsa command.

B. The SCP service must be enabled with the ip scp server enable command.

C. The Python interpreter must first be enabled with the guestshell enable command.

D. The SSH access must be allowed on the VTY lines using the transport input ssh command.

Answer: B
Explanation:

The error “Administratively disabled” means we need to enable SCP on the router with the command: Router(config)#ip scp server enable

NEW QUESTION 322
- (Exam Topic 2)

LR

OSPF EIGRP

~ @i

Refer to the exhibit. A network administrator configured mutual redistribution on R1 and R2 routers, which caused instability in the network. Which action resolves
the issue?

A. Set a tag in the route map when redistributing EIGRP into OSPF on R1. and match the same tag on R2 to deny when redistributing OSPF into EIGRP.
B. Set a tag in the route map when redistributing EIGRP into OSPF on R1. and match the same tag on R2 to allow when redistributing OSPF into EIGRP.
C. Advertise summary routes of EIGRP to OSPF and deny specific EIGRP routes when redistributing into OSPF.

D. Apply a prefix list of EIGRP network routes in OSPF domain on R1 to propagate back into the EIGRP routing domain.

Answer: A

Explanation:
When doing mutual redistribution at multiple points (between OSPF and EIGRP on R1 & R2), we may create routing loops so we should use route-map to prevent
redistributed routes from redistributing again into the original domain.

In the below example, the route-map “SET-TAG” is used to prevent any routes that have been redistributed into EIGRP from redistributed again into OSPF
domain by tagging these routes with tag 1.

Bl

|

romse-map SET-TAG pernit 10

seltag ]
These roukes ane prevonted from redistributed again by route-map FILTER_TAG by cerying any routes
with tag 1 set:

R4

ronte-map FILTER-TAG deny |1
arch tag 1

NEW QUESTION 324
- (Exam Topic 2)
What are two characteristics of VRF instance? (Choose two.)

A. All VRFs share customers routing and CEF tables .

B. An interface must be associated to one VRF.

C. Each VRF has a different set of routing and CEF tables

D. It is defined by the VPN membership of a customer site attached to a P device.
E. A customer site can be associated to different VRFs

Answer: BC

Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipswitch_cef/configuration/xe-3s/isw-cef-xe-3s-book/isw-cef
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_I3_vpns/configuration/15-s/mp-I13-vpns-15-s-book/mp-b

NEW QUESTION 328
- (Exam Topic 2)
Refer to the exhibits.
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LAN Segments LAN Segments
192.168.1.024 192.168.3.0/24
192.168.2.0/24 192.168.4.0/24
w2 Static Routing (1) 4, (1) EIGRF (2 .7
Y% a0 00 ™ ean el "
10.1.1.0724 10.1.2.0124
Chicago New'ork

Chicago Router

ip route 192.168.1.0 255.255.255.0 10.1.1.2
ip routa 192.168.2.0 255.255.255.0 10.1.1.2
1

router eigrp 100
redistribute static

LA Router
ip route 0.0.0.0 0.0.0.0 10.1.1.1

A user on the 192.168.1.0/24 network can successfully ping 192.168.3.1, but the administrator cannot ping 192.168.3.1 from the LA router. Which set of

configurations fixes the issue?
A)
Chicago Router

router eigrp 100
redistribute static metric 1010101010

B)
Chicage Router

router eigrp 100
redistribute connected

©)
Chicago Router

ip route 192.168.3.0 255.255.255.0 10.1.2.2
ip route 192.168.4.0 255.255.255.0 10.1.2.2

D)
LA Router

ip route 192.168.3.0 255.255.255.0

1
ip route 192.168.4.0 255.255.255.0 1

oo
=5 =k

b 8
= &R

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 332
- (Exam Topic 2)

An engineer configured SNMP notifications sent to the management server using authentication and encrypting data with DES. An error in the response PDU is

received as "UNKNOWNUSERNAME. WRONGDIGEST". Which action resolves the issue?

A. Configure the correct authentication password using SNMPv3 authPriv .

B. Configure the correct authentication password using SNMPv3 authNoPriv.

C. Configure correct authentication and privacy passwords using SNMPv3 authNoPriv.
D. Configure correct authentication and privacy passwords using SNMPv3 authPriv.

Answer: D

Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/snmp/configuration/xe-3se/3850/snmp-xe-3se-3850-book/nm

NEW QUESTION 336
- (Exam Topic 2)

Which two protocols work in the control plane of P routers across the MPLS cloud? (choose two)

A. LSP

B. RSVP

C. ECMP

D. LDP

E. MPLS OAM

Answer: BD
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NEW QUESTION 337
- (Exam Topic 2)

Ipv6é unicast-routing
L]
Router cspfvl 4
Router-id 192.168.1.1

L
Interface E 0/0

Ipvé enable

Ip address 10.1.1.1 255 _255.255.0
Ospfv3 4 area 0 ipvd

Ne shut

]
Interface Loopback0

Ipvé enable

Ipvd 172.16.1.1 255.255.255.0
Ospfv3 4 area 0 ipvd

Refer to the exhibit. The network administrator configured the branch router for IPv6 on the E 0/0 interface The neighboring router is fully configured to meet
requirements, but the neighbor relationship is not coming up. Which action fixes the problem on the branch router to bring the IPv6 neighbors up?

A. Enable the IPv4 address family under the E 0/0 interface by using the address-family Ipv4 unicast command

B. Disable IPv6 on the E 0/0 interface using the no ipv6 enable command

C. Enable the IPv4 address family under the router ospfv3 4 process by using the address-family ipv4 unicast command
D. Disable OSPF for IPv4 using the no ospfv3 4 area 0 ipv4 command under the E 0/0 interface.

Answer: C

Explanation:

Once again, Cisco changed the IOS configuration commands required for OSPFv3 configuration. The new OSPFv3 configuration uses the “ospfv3” keyword
instead ofthe earlier “ipv6 router ospf” routing process command and “ipv6 ospf” interface commands.

The Open Shortest Path First version 3 (OSPFv3) address families feature enables both IPv4 and IPv6 unicast traffic to be supported. With this feature, users may
havetwo processes per interface, but only one process per address family (AF).

NEW QUESTION 340
- (Exam Topic 2)
Refer to the exhibit.

router ospf 1

redistribute eigrp 1 subnets route-map EIGRP-=05PF

1

rauter eigrp 1

rietwork 100 106 0 0.0 0. 255

I

route-map EIGRP-=0SPF permit 10

match ip address WAN PREFIXES

raute-map EIGRP->05FPF permit 20

match ip address LOCAL_PREFIXES

route-map EIGRP-=05PF permit 30

match ip address VPN_PREFIXES

|

ip prefu-list LOCAL PREFIXES seq 5 permit 172.16.0.0/12 le 24
ip prefo-list VPN_PREFIXES seq 5 permit 192 168.0.0/16 la 24
ip prefc-ist WAN_PREFIXES seq 5 permit 10.0.0.0/8 le 24

|

The network administrator configured redistribution on an ASBR to reach to all WAN networks but failed Which action resolves the issue?

A. The route map must have the keyword prefix-list to evaluate the prefix list entries

B. The OSPF process must have a metric when redistributing prefixes from EIGRP.

C. The route map EIGRP->OSPF must have the 10.0.106.0/24 entry to exist in one of the three prefix lists to pass
D. EIGRP must redistribute the 10.0.106.0/24 route instead of using the network statement

Answer: A

Explanation:

In order to use a prefix-list in a route-map, we must use the keyword “prefix-list” in the “match” statement. . For example:
match ip address prefix-list WAN_PREFIXES

Without this keyword, the router will try to find an access-list with the same name instead.

NEW QUESTION 344

- (Exam Topic 2)

An engineer configured a Cisco router to send reliable and encrypted notifications for any events to the management server. It was noticed that the notification
messages are reliable but not encrypted. Which action resolves the issue?

A. Configure all devices for SNMPv3 informs with priv.
B. Configure all devices for SNMPv3 informs with auth.
C. Configure all devices for SNMPv3 traps with auth.
D. Configure all devices for SNMPv3 traps with priv.
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Answer: A

Explanation:
SNMP notifications can be sent as traps or inform requests. Traps are unreliable because the receiver does not send acknowledgments when this device receives
traps.”Send reliable and encrypted notifications for any events” so it is SNMP notifications. For encryption we need to configure “priv”.

NEW QUESTION 349
- (Exam Topic 2)
Refer to the exhibit.
Lospback: 100A0100C:1/64

=
Loopbacic: 200A0:200C::1/64 g _ Loopback1: 1001:ABC:2011:7::1/64
L S R 5 H Loopback2: 2001:ABC:2011:7::1/64
Locpbackd: 4004:0:400C::1/64 = £
o 4
EDND & E0N
ABD1-2011 7-100:1/64 ABON 20177100064
BGP AS 6501
[R1#sh bgp ipwE sum
BGF router identifier 1.1.1.1, local AS numbser 6501
BGP tabie version is 1, main routing table version 1
MNeighbar Vo AS MsgRovd MsgSent Tolver InQ Out UpiDown State/PixRcd
ABO1:2011:T:100:3 4 6502 O 0 i 0 0 never  ldie

R1#debug ip bgp all

" MOV B 17:22:11.223. BGP: AB01:2011:7:100::3 active went from Idie (o Active

" Nov 8 172211223 BGP: AB01:2011:7:100:-3 open active, local address AB01-2011:7:100::1

" Mov 8 17.22:11.224; BGP: ABO1:2011:7:100::3 open failed: Connection refused by remate host
"Mov 8 1T22011 224 BGP: ABOT: 2011 71003 Aclive open failed - tcb is nol available, open
active delayed 11264 ms (35000ms max, 0% jitter)

" Now 8 17:22:11 224 BGP, ses ghobal ABD1:2011:7:100::3 (0CIF49FFO-0) act Reset (Active open failed)
" Now B 17:22:11.232- BGP: ABO1:2011:7:100:-3 active went from Active to ldie

" Now B 17:22:11.232- BGP: nrb global AB01-2011:72100::3 Active open talled - open timer nunmning
R1#ping ipve ABO1: 201171003

Type escape sequence 1o abort

Sending 5, 100-byte ICMP Echos to ABD1:2011:7:100:23, tmeout (5 2 Seconds:

1

Success rate is 100 percent {5/5), round-trip min/avg/max = 1/1/1 ms

An engineer configured BGP between routers R1 and R3 The BOP peers cannot establish neighbor adjacency to be able to exchange routes. Which configuration
resolves this issue?

A. R3router bgp 6502 address-family ipvéneighbor AB01:2011:7:100::1 activate
B. Rlrouter bgp 6501 address-family ipvéneighbor AB01:2011:7:100;:3 activate
C. R3router bgp 6502neighbor AB01:2011:7:100::1 ebgp-muttlhop 255

D. Rlrouter bgp 6501 neighborAB01:2011:7:100::3ebgp-multihop255

Answer: A

Explanation:

From the output, we learned that R1 was trying to establish BGP neighbor relationship with R3 but failed. Both of them were using physical interface to establish
neighbor relationship so we don't need the “... ebgp-multihop” command here. The only reasonable answer is R3 has not been configured to activate BGP
neighbor relationship with R1.

NEW QUESTION 350
- (Exam Topic 2)

Refer to Exhibit.
H T aimm

BRANCH (config)® ip route 0.0.0.0 0.0.0.0 19 1§, 3E ¥ track 1

BRANCH {conf i.-||l ip route 0.0 0.0 0.0 0 17216 3% 6 &

BREAMCH [config) # ip ala 1

BEANCH (conflig-ip-sla)# lomp echo 1721635 &
BRANCH (contlg-ip-sla}# timeout 200

BEANCH (config-ip-=lal¥ frequency &

BRANCH (configl® ip sla schedule 1 life forever start-time now

BRANCH (config)# track 1 ip =1a 1 reachability

Traffic from the branch network should route through HQ R1 unless the path is unavailable. An engineer tests this functionality by shutting down interface on the
BRANCH router toward HQ_R1 router but 192.168.20.0/24 is no longer reachable from the branch router. Which set of configurations resolves the issue?

A. HQ_R1(config)# ip sla responderHQ_R1(config)# ip sla responder icmp-echo 172.16.35.2
B. BRANCH(config)# ip sla 1BRANCH(config-ip-sla)# icmp-echo 172.16.35.1
C. HQ_R2(config)# ip sla responderHQ_R2(config)# ip sla responder icmp-echo 172.16.35.5
D. BRANCH(config)# ip sla 1BRANCH(config-ip-sla)# icmp-echo 172.16.35.2

Answer: D
Explanation:
In the configuration above, the engineer has made a mistake as he was tracking 172.16.35.6 (the backup path) instead of tracking the main path (172.16.35.2).

Therefore,when he shut down the main path, the track 1 was still up so traffic still went through the main path -> it failed.
To fix this issue, we just need to correct the tracking interface of the main path.
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NEW QUESTION 353
- (Exam Topic 2)

Exhibit:
LO:1.1.1.2 .
AS 64512 AS 100
=) o=~
| L R7 . , RO
yd \ g . ;3\
/ -
// ~ L0: 1.1.1.1 \
| L0:1.115 - N A \AS 200
) o ) o =)
f‘:‘f. ‘H'\\ LO:-1.1.1.7 ‘_:f‘
/ B ‘
' /ff \ / \ /
/ . / 0:1.1.16/
| CRE w:y NP

An engineer configured R2 and R5 as route reflectors and noticed that not all routes are sent to R1 to advertise to the eBGP peers. Which iBGP routers must be

configured as route reflectors to advertise all routes to restore reachability across all networks?

A. R1 and R4
B. R1 and R5
C.R4 and R5
D. R2 and R5

Answer: C

Explanation:

When R2 & R5 are route reflectors (RRs), routes from R4 & R8 are advertised to R5 and R5
advertises to R2. But R2 would drop them as R2 is also a RR. Therefore some routes are missing on R1 to advertise to eBGP peers.

Good reference: https://www.ciscolive.com/c/dam/r/ciscolive/emea/docs/2015/pdf TECRST-2310.pdf
Route reflectors (RR) must be fully iBGP meshed so we cannot configure RR on both R1 and R5.

We should choose routers at the center of the topology RRs, in this case R4 & R5.

NEW QUESTION 354
- (Exam Topic 2)

An engineer configured two routers connected to two different service providers using BGP with default attributes. One of the links is presenting high delay, which
causes slowness in the network. Which BGP attribute must the engineer configure to avoid using the high-delay ISP link if the second ISP link is up?

A. LOCAL_PREF
B. MED

C. WEIGHT

D. AS-PATH

Answer: A
NEW QUESTION 358

- (Exam Topic 2)
Refer to Exhibit.

!
ip dhcp pool D

lease 30

interface Ethernet0/0

ip dhep excluded-address 172.16.16.1 172.16.16.2

network 172.16.16.0 255.255.255.0
domain-name cisco.com
dns-server 172.16.16.2

ip address 10.1.1.1 255.255.255.252

ip access-group 100 in

access-list 100 deny udp any any
access-list 100 permit ip any any

Which two configurations allow clients to get dynamic ip addresses assigned?

A. Configure access-list 100 permit udp any any eq 61 as the first line
B. Configure access-list 100 permit udp any any eq 86 as the first line
C. Configure access-list 100 permit udp any any eq 68 as the first line
D. Configure access-list 100 permit udp any any eq 69 as the first line
E. Configure access-list 100 permit udp any any eq 67 as the first line
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Answer: CE

Explanation:

A DHCP server that receives a DHCPDISCOVER message may respond with a DHCPOFFER message on UDP port 68 (BootP client).

In the event that the DHCP server is not on the local subnet, the DHCP server will send the DHCPOFFER, as a unicast packet, on UDP port 67, back to the

DHCP/BootPRelay Agent from which the DHCPDISCOVER came.
Reference:

https://www.cisco.com/c/en/us/support/docs/ip/dynamic-address-allocation-resolution/27470-100.html

NEW QUESTION 363
- (Exam Topic 2)
How are MPLS Layer 3 VPN services deployed?

A. The RD and RT values must match under the VRR

B. The RD and RT values under a VRF must match on the remote PE router
C. The import and export RT values under a VRF must always be the same.
D. The label switch path must be available between the local and remote PE routers.

Answer: D

Explanation:

https://www.cisco.com/c/en/us/td/docs/iosxr/ncs5500/vpn/65x/b-I13vpn-cg-ncs5500-65x/b-13vpn-cg-ncs5500-65 The ingress PE router must be able to reach the

egress PE router for a packet to be relayed to its destination.

NEW QUESTION 367
- (Exam Topic 2)
Refer to the exhibit.

192,168, 1.0/ 24

Eo/o
L@E@ Serial 1/0 192.168.13.0/24

R —

Saorial 170 -
-

H““Qf_“" /1 Serial 1.-')/
193 168 0/ 24
192.168.12.0 ’

1P 16823 0734
B /rfj.r""
> p
H"\ﬁaﬁrml. i/o Sarial 1/1 J,.r"f
-~
KH‘“H

‘X'*—

E /0
K2 4‘ 192 168 2.0/ 34
EOQf)

192, 168.24.0/ 24

E O/O

.
E EO/1
R4 | 192. 168 4.0/ 24

192.168.3.0/24

E0/0

H3

# Show IP route on R1
192.168.1.0/24 is vanably subnelied. 2 subnets, 2 masks
L 192168 1,024 is directly connected, Ethemeti0
L 192.168.1.1/32 is direclly connecled, Ethernall/0
O 192 168 2 0024 [S0/2297856] wa 192 168.12.2, D0:02:14, Seriali1/
5 192.168.3.0/24 [1/0] via 192.168.12.2
192 168,12 0024 is varably subnetied, 2 subnels, 2 masks
C 192.168.12.0/24 is dwectly connected, Serial1/1
L 192.168.12.1/32 is diroctly connected, Sonal1/1

192,168, 13.0/24 is vanably subnetted, 2 subnets, 2 masks

.

H 192.168.13.0v24 is dwectly connected, Senal1/0

L 182.188.13.1/32 is direclly connected, Serial1/0

O 192 188.23.0v24 [2V2681856] wia 192 168.13.3, 00:D8:38, Serialtin
[90/2881856] via 192.168.12.2, 00:08:38, Seral1l

All the serial between R1, R2, and R3 have the Same bandwidth. User on the 192.168.1.0/24 network report slow response times while they access resource on
network 192.168.3.0/24. When a traceroute is run on the path. It shows that the packet is getting forwarded via R2 to R3 although the link between R1 and R3 is

still up. What must the network administrator to fix the slowness?

A. Change the Administrative Distance of EIGRP to 5.
B. Add a static route on R1 using the next hop of R3.
C. Remove the static route on R1.

D. Redistribute theR1 route to EIGRP

Answer: C

NEW QUESTION 368
- (Exam Topic 2)
Refer to the exhibit.
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Contfiguration Qutput.
aaa new-model
|

aaa auinentcation logqin defaull iocal

aaa authenhcaton logn V1Y _AUTH loca
aaa authorization exec default none
aaa authonzation exec WVTY _AUTH loca

aaa accouniing exec defaull start-stop group radius
i

password 7 KOAYUubDrOgOds

authorization exec VTY AUTH

login authentication VTY AUTH

i

Debug Output:

AAAAUTHEMN/LOGIN (D00004B6) Pick method st ‘default
AAMAUTHOR (Ox4B86) Pick memaod list VTY _AUTH'
AAAAUTHOREXEC{O0000486) Authornzation FAILED

Which action resolves the failed authentication attempt to the router?

A. Configure aaa authorization login command on line vty 0 4

B. Configure aaa authorization login command on line console 0
C. Configure aaa authorization console global command

D. Configure aaa authorization console command on line vty 0 4

Answer: C

Explanation:

In the debug output, we see that the Authorization (not Authentication) failed so we need to correct the authorization. In order to enable authorization, we must use
the global command “aaa authorization console” first.

Reference:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/security/al/sec-al-cr-book/sec-cr-al.html

NEW QUESTION 373
- (Exam Topic 2)
Refer to exhibit.

E\.

T w
F Y

LY 4
F

Routing protocols are mutually redistributed on R3 and R1. Users report intermittent connectivity to services hosted on the 10.1.1.0/24 prefix. Significant routing
update changes are noticed on R3 when the show ip route profile command is run. How must the services be stabilized?

A. The issue with using BGP must be resolved by using another protocol and redistributing it into EIGRP on R3
B. The routing loop must be fixed by reducing the admin distance of iBGP from 200 to 100 on R3

C. The routing loop must be fixed by reducing the admin distance of OSPF from 110 to 80 on R3

D. The issue with using iBGP must be fixed by running eBGP between R3 and R4

Answer: B

Explanation:

After redistribution, R3 learns about network 10.1.1.0/24 via two paths:+ Internal BGP (IBGP): advertised from R4 with AD of 200 (and metric of 0)+ OSPF:
advertised from R1 with AD of 110 (O E2) (and metric of 20)Therefore R3 will choose the path with the lower AD via OSPF

But this is a looped path which is received from R3 -> R2 -> R1 -> R3. So when the advertised route from R4 is expired, the looped path is also expired soon and
R3 willreinstall the main path from R4. This is the cause of intermittent connectivity.In order to solve this issue, we can lower the AD of iBGP to a value which is
lower than 110 so that it is preferred over OSPF-advertised route.

NEW QUESTION 375

- (Exam Topic 2)

Clients on ALS2 receive IPv4 and IPv6 addresses but clients on ALS1 receive only IPv4 addresses and not IPv6 addresses. Which action on DSW1 allows clients
on ALS1 to receive IPv6 addresses?
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4
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d ddé
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VLAN 0 WLANM J0 VLAM 10
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Ing Cont iguratl

s FFent onfl iguirat " 174 Bvtea

interface FastEtharnotl

\p sdelre 10.4.1 1 0

ip helper-address 4.4.4.4

duplex suto

'].lll"l-d 8 UL

Lpve address AU :ADT : tAD4 :ADLA]

:_]_'."-' n-r.-|:|:+l|

A) Configure DSW1(config-if)#ipv6 helper address 2002:404:404::404:404

B) Configure DSW1(dhcp-config)#default-router 2002:A04:A01::A04:A01

C) Configure DSW1(config)#ipv6 route 2002:404:404:404:404/128 FastEthernet1/0

D) Configure DSW1(config-if)#ipv6 dhcp relay destination 2002:404:404::404:404 GigabitEthernetl1/2

A. Option A
B. Option B
C. Option C
D. Option B

Answer: B

Explanation:

https://community.cisco.com/t5/networking-documents/stateful-dhcpv6-relay-configuration-example/ta-p/31493

NEW QUESTION 378
- (Exam Topic 2)
Refer to the exhibit.

R1#show run | begin ine
line con 0
exec-timeout 0 0
privilege level 15
logging synohronots
transpoit preferied telnet
transport output none
stopbits 0 4
line vty 0 4
login
transport refarred telna
transport input none
transport output telnet
R1#

R1#ssh -1 cisco 192 168 12.2

% ssh connections not parmitted from this terminal

Ri#

An engineer receives this error message when trying to access another router in-band from the serial interface connected to the console of R1. Which

configuration is needed on R1 to resolve this issue?
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Hi{config#line console 0
F1(config-ine j# transport preferred ssh

Fl{conhg#line vty 0
Fl(config-inej# transport output ssh

F1{canfig)#line vty 0
Fl1{config-ine j# transport output ssh
Fl{config-line # transport preferred ssh

F1{config#line console 0
F1{config-ine j# transport output ssh

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation:

https://community.cisco.com/t5/other-network-architecture/out-of-band-router-access/td-p/333295 The “transport output none” command prevents any protocol

connection made from R1. Therefore our SSH connection to 192.168.12.2 was refused. In order to fix this problem we can configure “transport output ssh” under
“line console 0” of R1.

Note: The parameter “-|” specifies the username to log in as on the remote machine.

NEW QUESTION 380
- (Exam Topic 2)

ISP

899.3.5.1

Intermet

E'lﬂlﬂif,z/

ip route 0.0.0.0 0.0.0.0 99.3.5.1

R2 10.100.1.0/24 R1

10.150.1.0/24
Areas

Refer to the exhibit. A network administrator redistributed the default static route into OSPF toward all internal routers to reach to Internet. Which set of commands
restores reachability to the Internet by internal routers?

A. router ospf 1default-information originate
B. router ospf 1network 0.0.0.0 0.0.0.0 area 0
C. router ospf lredistribute connected 0.0.0.0
D. router ospf lredistribute static subnets

Answer: A
NEW QUESTION 384

- (Exam Topic 2)
Refer to the exhibit.
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interface GigabitEthernetl/0/13

interface GigabitEthernetl/0/23

switchport trunk allowed wvlan 30-33
switchport mode trunk

switchport trunk allowed wvlan 30-33
switchport mode trunk

An engineer identifier a Layer 2 loop using DNAC. Which command fixes the problem in the SF-D9300-1 switch?

A. no spanning-tree uplinkfast

B. spanning-tree loopguard default
C. spanning-tree backbonesfast

D. spanning-tree portfast bpduguard

Answer: D

Explanation:

https://www.cisco.com/c/en/us/td/docs/cloud-systems-management/network-automation-and
management/dnacenter/tech_notes/b_dnac_sda_lan_automation_deployment.html

NEW QUESTION 385
- (Exam Topic 2)
Refer to the exhibit.

L

C
L
O
O
O
0
C
L
Cc

L

172.1.12.3/32 is directly connected, Ethernet0/0
172.1.13.0/24 is directly connected, Ethernet0/1
172.1.13.3/32 is directly connected, Ethernet0/1
192.168.1.0/24 [110/2] via 172.1.12.1, 00:04:44, Ethernet0/0
192.168.2.0/24 [110/2) via 172.1.12 1, 00:04:44, Ethernet0/0
192.168.3.0/24 [110/2] via 172.1.13.2, 00:04:44, Ethernet0/1
192.168.4.0/24 [110/2) via 172.1.13.2, 00:04:44, Ethernet0/1
192 .168.5.0/24 is variably subnetted, 2 subnets, 2 masks
192.168.5.0/24 is directly connected, Loopback0
192.168.5.1/32 is directly connected, Loopback0
192.168.6.0/24 is variably subnetted, 2 subnets, 2 masks
192.168.6.0/24 is direclly connected, Loopback1
192.168.6.1/32 is directly connecled, Loopback1

SanFrancisco and Boston routers are choosing slower links to reach each other despite the direct links being up Which configuration fixes the issue?

Boston Router

router ospf 1
auto-cost reference-bandwidth 1000

SanFrancisco Router

router ospf 1
auto-cost reference-bandwidth 1000

All Routers

router ospf 1
auto-cost reference-bandwidth 100

All Routers

router ospf 1
auto-cost reference-bandwidth 1000
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 390

- (Exam Topic 2)
Refer to the exhibit.

R1#show policy-map control-plane
Control Plane

Service-policy output; CoPP

Class-map: SNMP-0ut (match-all)
124 packets, 3693 bytes
9 minute offered rate 0000 bps, drop rate 0000 bps
Match: access-group name SNMP
police:
cir 8000 bps, bc 1500 bytes
conformed 0 packels, 0 byles; actions:
transmit
exceeded 0 packets, 0 bytes; actions:
drop
conformed 0000 bps, exceeded 0000 bps

Class-map: class-default (match-any)
10 packets, 1003 bytes
5 minute offered rate 0000 bps, drop rate 0000 bps
Match: any
R1#show ip access-list SNMP
Extended IP access list SNMP
10 parmit udp any eg snmp any

R1 is being monitored using SNMP and monitoring devices are getting only partial information. What action should be taken to resolve this issue?

A. Modify the CoPP policy to increase the configured exceeded limit for SNMP.
B. Modify the access list to include snmptrap.

C. Modify the CoPP policy to increase the configured CIR limit for SNMP.

D. Modify the access list to add a second line to allow udp any any eq snmp

Answer: D

NEW QUESTION 394

- (Exam Topic 1)

Which Cisco VPN technology can use multipoint tunnel, resulting in a single GRE tunnel interface on the hub, to support multiple connections from multiple spoke
devices?

A. DMVPN

B. GETVPN

C. Cisco Easy VPN
D. FlexVPN

Answer: A

NEW QUESTION 396
- (Exam Topic 1)
Which component of MPLS VPNSs is used to extend the IP address so that an engineer is able to identify to which VPN it belongs?

A. VPNv4 address family
B. RD

C.RT

D. LDP

Answer: B

Explanation:

o Specify the corect route distinguisher used for that VPN, This is wsed to extend the 1P address so that vou can identify which YPN i belongs to

NEW QUESTION 399
- (Exam Topic 1)
Refer to Exhibit.
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router ospt 10
router-id 192.168.1.1
log-adjacency-changes
redistribute bgp 1 subnets route-map BGP-TO-OSPF
!
route-map BGP-TO-0SPF deny 10
mateh ip address 50
route-map BGP-TO-0SPF permit 20
]
access-1list 50 permit 172.16.1.0 0.0.0.255

Which statement about redistribution from BGP into OSPF process 10 is true?

A. Network 172.16.1.0/24 is not redistributed into OSPF.

B. Network 10.10 10.0/24 is not redistributed into OSPF

C. Network 172.16.1.0/24 is redistributed with administrative distance of 1.
D. Network 10.10.10.0/24 is redistributed with administrative distance of 20.

Answer: A
NEW QUESTION 401

- (Exam Topic 1)
Refer to the exhibit.

RZ00#show ip bgp summary

BGP router identifier 10.1.1.1, local AS number 62000

BGP table version is 26, main routing table version 26

1 network entries using 132 bytes of memory

1 path entries using 52 bytes of memory

2/1 BGP path/bestpath attribute entries using 296 bytes of memory
0 BGP route-map cache entnes using 0 bytes of memory

[ BGP filter-list cache entries using 0 bytes of memory

Bitfield cache entries. current 1 (at peak 2) using 28 bytes of memory
BGF using 508 tolal bytes of memory

BGP activity 24/23 prefixes, 24/23 paths, scan interval 60 secs

Neighbor V AS MsgRevd MsgSent TbVer InQ OuwQ Up/Down State/PfxRed
192.0.22 4 85100 20335 20329 0 0 O 00:02:04 I|dle (PmxCt)
R200#

In which circumstance does the BGP neighbor remain in the idle condition?
A. if prefixes are not received from the BGP peer

B. if prefixes reach the maximum limit

C. if a prefix list is applied on the inbound direction

D. if prefixes exceed the maximum limit

Answer: D

Explanation:

https://www.cisco.com/c/en/us/support/docs/ip/border-gateway-protocol-bgp/25160-bgp-maximum-prefix.html#

NEW QUESTION 405
- (Exam Topic 1)
Refer to the exhibit.

10010100030

Fal 1010200020

Falk1

An IP SLA was configured on router R1 that allows the default route to be modified in the event that Fa0/0 loses reachability with the router R3 Fa0/0 interface.

The route has changed to flow through
router R2. Which debug command is used to troubleshoot this issue?

A. debug ip flow

B. debug ip sla error
C. debug ip routing
D. debug ip packet
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Answer: C

Explanation:
debug ip routing This command enables debugging messages related to the routing table.

NEW QUESTION 406
- (Exam Topic 1)
Which statement about route distinguishers in an MPLS network is true?

A. Route distinguishers allow multiple instances of a routing table to coexist within the edge router.
B. Route distinguishers are used for label bindings.

C. Route distinguishers make a unique VPNv4 address across the MPLS network.

D. Route distinguishers define which prefixes are imported and exported on the edge router.

Answer: C
NEW QUESTION 407

- (Exam Topic 1)
Refer to the exhibit.

*Jun 28 14-41:57 %BGP-5-ADJCHANGE neighbor 192 168 2 2 Down User reset

*Jun 28 14:41:57: %BGP_SESSION-5-ADJCHANGE: neighbor 192.168.2.2 IPv4 Unicast
topology base removed from session User reset

*Jun 28 14:41.57: %BGP-5-ADJCHANGE: neighbor 192.168.2.2 Up

R1#show clock

*15:42:00 506 CET Fri Jun 28 2019

An engineer is troubleshooting BGP on a device but discovers that the clock on the device does not correspond to the time stamp of the log entries. Which action
ensures consistency between the two times?

A. Configure the service timestamps log uptime command in global configuration mode.

B. Configure the logging clock synchronize command in global configuration mode.

C. Configure the service timestamps log datetime localtime command in global configuration mode.
D. Make sure that the clock on the device is synchronized with an NTP server.

Answer: C

Explanation:

https://www.cisco.com/c/en/us/td/docs/routers/xr12000/software/xr12k r3-9/system_management/command/ref By default, syslog and debug messages are
stamped by UTC, regardless of the time zone that device configured. You should append localtime key word to "service timestamp {log | debug} datetime msec"
global command to change that behavior.

https://community.cisco.com/t5/networking-documents/router-log-timestamp-entries-are-different-from-the-syst https://www.cisco.com/E-
Learning/bulk/public/tac/cim/cib/using_cisco_ios_software/cmdrefs/service_timestam

NEW QUESTION 409
- (Exam Topic 1)
Which transport layer protocol is used to form LDP sessions?

A. UDP
B. SCTP
C.TCP
D. RDP

Answer: C

Explanation:

LDP multicasts hello messages to a well-known UDP port (646) in order to discover neighbors. Once the discovery is accomplished, a TCP connection (port 646)
is established and the LDP session begins. LDP keepalives ensure the health of the session. Thanks to the LDP session, LDP messages create the label
mappings required for a FEC. Withdraw messages are used when FECs need to be torn down.

NEW QUESTION 412
- (Exam Topic 1)
Which statement about MPLS LDP router ID is true?

A. If not configured, the operational physical interface is chosen as the router ID even if a loopback is configured.
B. The loopback with the highest IP address is selected as the router ID.

C. The MPLS LDP router ID must match the IGP router ID.

D. The force keyword changes the router ID to the specified address without causing any impact.

Answer: B
Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_ldp/configuration/12-4m/mp-ldp-12-4mbook.pdf

NEW QUESTION 416
- (Exam Topic 1)
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Drag and drop the MPLS terms from the left onto the correct definitions on the right.

PE device that forwards fraffic based on
labels
P path that the labeled packet takes
CE | device that is unaware of MPLS
labeling
LSP i device that removes and adds the
MPLS labeling
A. Mastered
B. Not Mastered
Answer: A
Explanation:
PE : P :
||
P I LSP
I
CE CE }

NEW QUESTION 418
- (Exam Topic 1)
Which option is the best for protecting CPU utilization on a device?

A. fragmentation

B. COPP

C. ICMP redirects

D. ICMP unreachable messages

Answer: B
NEW QUESTION 421

- (Exam Topic 1)
Refer to the exhibit.

Routerfshow ip route
=output omitted=
Gateway of last resort is not set

192.168.1.0/32 is subnefted, 1 subnets

O 182.168.1.1 [110/11] via 192.168.12.1, 16:56:40, Ethernet0/0
192.168.2.0/24 is variably subnetted, 2 subnets, 2 masks

C 192.168.2.0/24 is directly connected, Loopback(

L 192.168.2.2/32 is directly connected, Loopbackd
182.168.3.0/24 is variably subnetted, 2 subnets, 2 masks

C 1892.168.3.0/24 is directly connected, Ethernetl/

L 192.168.3.1/32 is directly connected, Ethernet0/
192.168.12.0/24 is variably subnetted, 2 subnets, 2 masks

C 192.168.12.0/24 is directly connected, Ethernet0/0

L 192 168.12.2/32 is directly connected, Ethernett/0

Routerfshow running-config | section ospf
router ospf 1
summary-address 10.0.0.0 255.0.0.0
redistribute static subnets
network 192.168.3.0 0.0.0.255 area 0
network 192.168.12.0 0.0.0.255 area 0
Router#

An engineer is trying to generate a summary route in OSPF for network 10.0.0.0/8, but the summary route does not show up in the routing table. Why is the
summary route missing?

A. The summary-address command is used only for summarizing prefixes between areas.

B. The summary route is visible only in the OSPF database, not in the routing table.
C. There is no route for a subnet inside 10.0.0.0/8, so the summary route is not generated.
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D. The summary route is not visible on this router, but it is visible on other OSPF routers in the same area.

Answer: C

Explanation:
The summary-address is only used to create aggregate addresses for OSPF at an autonomous system boundary. It means this command should only be used on

the ASBR when you are trying to summarize externally redistributed routes from another protocol domain or you have a NSSA area. But a requirement to create a

summarized route is:
The ASBR compares the summary route’s range of addresses with all routes redistributed into OSPF on that ASBR to find any subordinate subnets (subnets that

sit inside the summary route range). If at least one subordinate subnet exists, the ASBR advertises the summary route.

NEW QUESTION 426
- (Exam Topic 1)
Refer to the exhibit.

—— -
192.168.130.0/24 l—e Gi0/3

Which configuration configures a policy on R1 to forward any traffic that is sourced from the 192.168.130.0/24 network to R2?

& gccess-list 1 permit 192,168.1.30,0 0.0,0,255
1

interface Gl0/2

ip palicy route-map test

|

route-map test permit 10
match ip address 1

set ip next-hop 172.20.20.2

i access-list 1 parmit 192.168.130.0 0.0.0.255
|
interface Gid/1
ip policy route-map test
!
route-map test permit 10
match ip address 1
set ip next-hop 172.20.40.2

G access-list 1 permit 192.168.130.0 0.0.0.255
!
interface Gid/2
ip policy route-map test
!
routa-map test permit 10
match ip address 1
set ip next-hop 172.20.20.1

D access-list 1 permit 192.168.130.0 0.0.0.256

L]

interface Gio/1

ip policy route-map test
1

route-map test permit 10
match ip address 1
zet ip next-hop 172.20.40.1

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 427
- (Exam Topic 1)
Which SNMP verification command shows the encryption and authentication protocols that are used in SNMPV3?

A. show snmp group
B. show snmp user
C. show snmp

D. show snmp view

Answer: B

NEW QUESTION 428
- (Exam Topic 1)
Drag and drop the MPLS VPN device types from me left onto the definitions on the right.
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S Ao B e e SRt LR St s same o
Custoreor i dessios BEACE I The cone of the provicer metwork that setzes MPLS
R T
_ devre thst stackes and deeaches the YRR labels b the cachets
CE devloe
i Ui gl owbiker reSeieli ke
= fevice n e enterprise mehsoik Thal coanass oo other CuteTa
[ oo
ke
Mot 2 Cele bevice &t e edoge of He I'F':I| it rustvse e Hast conreecis fo Uhe
=P relwdry

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Customer () dovig | |- =T oaA0el () dedde

T — m— o m— m— m— m— m— m— m—

roviiet (7] dedce | CE pevice

NEW QUESTION 429
- (Exam Topic 1)
Refer to the exhibit.

R1{config) # do show running-config | section linejusername
username cisco secret 5 $13yb/oSL3G5cX0ODxpYMSJ70PzEY00
line con O
logging synchronous
linevty 0 4
login local
transport input telnet
R1{config) # logging console 7
R1{config) # do debug aaa authentication
R1{config) #

An administrator that is connected to the console does not see debug messages when
remote users log in. Which action ensures that debug messages are displayed for remote logins?

A. Enter the transport input ssh configuration command.

B. Enter the terminal monitor exec command.

C. Enter the logging console debugging configuration command.
D. Enter the aaa new-model configuration command.

Answer: C
Explanation:

The logging console is a default and hidden command.

NEW QUESTION 430
- (Exam Topic 1)

router# show Ip route

D 192.168.32.0/19 [90/25789217] via 10.1.1 1
R 192.168.32.0/24 [120/4] via 10.1.1.2
O 192.168.32.0/26 [110/229840] via 10.1.1.3

Refer to the exhibit. an engineer is trying to get 192.168.32.100 forwarded through 10.1.1.1, but it was forwarded through 10.1.1.2. What action forwards the
packets through 10.1.1.17?

A. Configure EIGRP to receive 192.168.32.0 route with lower admin distance.

B. Configure EIGRP to receive 192.168.32.0 route with longer prefix than /19.

C. Configure EIGRP to receive 192.168.32.0 route with lower metric.

D. Configure EIGRP to receive 192.168.32.0 route with equal or longer prefix than /24.

Answer: D
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NEW QUESTION 435
- (Exam Topic 1)
Refer to the exhibit.

neighbor 10.222.1.1 route-map SET-WEIGHT in
ahb 2 2 1.1 remote-as

]
A router receiving BGP routing updates from multiple neighbors for routers in AS 690. What is the reason that the router still sends traffic that is destined to AS 690
to a neighbor other than 10.222.1.1?

A. The local preference value in another neighbor statement is higher than 250.

B. The local preference value should be set to the same value as the weight in the route map.
C. The route map is applied in the wrong direction.

D. The weight value in another neighbor statement is higher than 200.

Answer: C

NEW QUESTION 436
- (Exam Topic 1)
Which method changes the forwarding decision that a router makes without first changing the routing table or influencing the IP data plane?

A. nonbroadcast multiaccess
B. packet switching

C. policy-based routing

D. forwarding information base

Answer: C

NEW QUESTION 439

- (Exam Topic 1)

Refer to the following output:

Router#show ip nhrp detail 10.1.1.2 /8 via 10.2.1.2, Tunnell created 00:00:12, expire 01:59:47 TypE. dynamic, Flags: authoritative unique nat registered used
NBMA address: 10.12.1.2

What does the authoritative flag mean in regards to the NHRP information?

A. It was obtained directly from the next-hop server.

B. Data packets are process switches for this mapping entry.

C. NHRP mapping is for networks that are local to this router.

D. The mapping entry was created in response to an NHRP registration request.
E. The NHRP mapping entry cannot be overwritten.

Answer: A

NEW QUESTION 441
- (Exam Topic 1)
Which command displays the IP routing table information that is associated with VRF-Lite?

A. show ip vrf

B. show ip route vrf

C. show run vrf

D. show ip protocols vrf

Answer: B
Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst4500/12-2/50sg/configuration/guide/Wrapper-46SG

NEW QUESTION 442
- (Exam Topic 1)
Refer to the exhibit.
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192 168.0.1 /24

Physical, 172,17.0.1
Tunnel; 10.0.0.1

5 i Physical 172.17.0.3

Physical: 17217.0.2 # . Tunnek 10.000.12
Tumnel: 10.0.0.11 : x

-

182.188.1.1 124 192.165.2.1 /24

Which interface configuration must be configured on the spoke A router to enable a dynamic DMVPN tunnel with the spoke B router?

A jnterface Tunnel
description mGRE - DMVPN Tunnel
ip address 10.0.0.11 255.255.255.0
ip nhrp map multicast dynamic
ip nhrp network-id 1
tunnel source 10.0.0.1
tunnel destination FastEthernet 0/0

tunnel mode gre multipoint

B interface TunnelD
ip address 10.0.0.11 255.255.255.0
ip nhrp network-id 1
tunnel source FastEthernet 0/0
tunnel mode gre multipoint

ip nhrp nhs 10.0.0.1
ip nhrp map 10.0.0.1 172.17.0.1

interface TunnelD

ip address 10.1.0.11 255.255.255.0
ip nhrp network-id 1

tunnel source 1.1.1.10

ip nhrp map 10.0.0.11 172.17.0.2
tunnel mode gre

interface Tunnel0

ip address 10.0.0.11 255.255.255.0
ip nhrp map multicast static

ip nhrp network-id 1

tunnel source 10.0.0.1

tunnel mode gre multipoint

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 445
- (Exam Topic 1)

During the maintenance window an administrator accidentally deleted the Telnet-related configuration that permits a Telnet connection from the inside network

(Eth0/0) to the outside of the

networking between Friday — Sunday night hours only. Which configuration resolves the issue?

A)

interface EthernetOil

ip address 10.1.1.1 255.255.255.0
ip access-group 101 in

!

accessdist 101 permit udp 10.1.1.0 0.0.0.255 172.16.1.0 0.0.0.255
&q telnst ime-range changewindow
|

time-range changewindow
periedic Friday Saturday Sunday 22:00 to 0&6:00

B)
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interface Ethernet0/0

ip address 10.1.1.1 255.255.255.0
ip access-group 101 in

]

eq telnet time-range changewindow
!

fime-range changewindow
periodic 22:00 to 05:00

Iacceas-!jst 101 permit tcp 10.1.1.0 0.0.0.255 172.16.1.0 0.0.0.255

C)

interface Ethernet0/0

ip address 10.1.1.1 255.255.255.0
ip access-group 101 in

!

access-list 101 permit tep 10.1.1.0 0.0.0,255 172.16.1.0 0.0.0.255

eq telnet time-range changewindow
|

time-range changewindow
periodic Friday Saturday Sunday 22:00 to 05:00

D)
interface Ethernet0/0

ip address 10.1.1.1 255.255.255.0
ip access-group 101 in
I

accesslist 101 permit udp 10.1.1.0 0.0.0.255 172.16.1.0 0.0.0.285

€q telnet time-range changewindow
!

time-ranne rhannewinrinw

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 446
- (Exam Topic 1)

R2 has a locally originated prefix 192.168.130.0/24 and has these configurations:

ip prefix-list test seq 5 permit 192.168.130.0/24
!

route-map OUT permiti10
match ip address prefix-list test
set as-path prepend 65000

What is the result when the route-map OUT command is applied toward an eBGP neighbor R1 (1.1.1.1) by using the neighbor 1.1.1.1 route-map OUT out

command?

A. R1 sees 192.168.130.0/24 as two AS hops away instead of one AS hop away.

B. R1 does not accept any routes other than 192.168.130.0/24

C. R1 does not forward traffic that is destined for 192.168.30.0/24

D. Network 192.168.130.0/24 is not allowed in the R1 table
Answer: A
NEW QUESTION 451

- (Exam Topic 1)
Refer to the exhibit.

Router# show tag-switching tdp bindings

(..)

tib entry: 10.10.10.1/32, rev 31
local binding: tag: 18
remote binding: tsr: 10.10.10.1:0, tag: imp-null
remote binding: tsr: 10.10.10.2:0, tag: 18
remote binding: tsr: 10.10.10.6:0, tag: 21

tib entry: 10.10.10.2/32, rev 22
local binding: tag: 17
remote binding: tsr: 10.10.10.2:0, tag: imp-null
remote binding: tsr: 10.10.10.1:0, tag: 19
remate binding: tsr: 10.10.10.6:0, tag: 22
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What does the imp-null tag represent in the MPLS VPN cloud?

A. Pop the label

B. Impose the label

C. Include the EXP bit
D. Exclude the EXP bit

Answer: A

Explanation:
The imp-null (implicit null) tag instructs the upstream router to pop the tag entry off the tag stack before forwarding the packet.
Note: pop means remove the top MPLS label

NEW QUESTION 456
- (Exam Topic 1)
Which attribute eliminates LFAs that belong to protected paths in situations where links in a network are connected through a common fiber?

A. shared risk link group-disjoint
B. linecard-disjoint

C. lowest-repair-path-metric

D. interface-disjoint

Answer: A

Explanation:
Reference:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/iproute_eigrp/configuration/xe-3s/asr1000/ire-xe-3s-asr1000/

NEW QUESTION 460
- (Exam Topic 1)
Refer to the exhibit.

Router#sh ip route ospf
=putput omitted=
Gateway is last rescrt is not set

10.0.0.0/24 i= subnetied, 1 subnets
EZ 10.0.0.0 [110/20] via 182.168.12.2, 00:00:10, Ethernetd/0

« 192.168.3.0/24 [110/20] via 192.168.12.2, 00:00:50, Ethemet0/0
Routers#

(%]

Router#show ip bgp
=putput omitted=

MNetwork Mext Hop  Metric LocPrf Weight Path
=" 192.168.1.1/32 0.0.0.0 0 32768 ?
> 192.168.3.0 192.168.12.2 20 32768 2
= 192.168.12.0 0.0.0.0 0 32768 r:
Router#éshow running-config | section router bgp
router bgp 65000

bgp log-neighbor-changes
redistribute ospf 1
Router#

An engineer is trying to redistribute OSPF to BGP, but not all of the routes are redistributed. What is the reason for this issue?

A. By default, only internal routes and external type 1 routes are redistributed into BGP
B. Only classful networks are redistributed from OSPF to BGP

C. BGP convergence is slow, so the route will eventually be present in the BGP table
D. By default, only internal OSPF routes are redistributed into BGP

Answer: D

Explanation:

If you configure the redistribution of OSPF into BGP without keywords, only OSPF intra-area and inter-area routes are redistributed into BGP, by default.

You can redistribute both internal and external (type-1 & type-2) OSPF routes via this command: Router(config-router)#redistribute ospf 1 match internal external 1
external 2

Reference:

https://www.cisco.com/c/en/us/support/docs/ip/border-gateway-protocol-bgp/5242-bgp-ospf-redis.html

NEW QUESTION 465

- (Exam Topic 1)

An engineer is configuring a network and needs packets to be forwarded to an interface for any destination address that is not in the routing table. What should be
configured to accomplish this task?

A. set ip next-hop

B. set ip default next-hop

C. set ip next-hop recursive

D. set ip next-hop verify-availability

Answer: B
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Explanation:
The set ip default next-hop command verifies the existence of the destination IP address in the routing fable, and
» if the destination IP address exists, the command does not policy route the packel, but forwards the packet based on the routing table

» if the destination IP address does not exist, the command policy routes the packet by sending it to the speciied next hop

NEW QUESTION 469
- (Exam Topic 1)
Drag and drop the MPLS VPN concepts from the left onto the correct descriptions on the right.

route distinguisher | propagates VIPN reachability information
|
route target | distributes labels for traffic engineering
|
Resource Resenvation Protocol uniguely identifies a customer prefix

controls the importexpaort of customer

multiprotocol BGP
prefixes

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Reference:
https://www.rogerperkin.co.uk/featured/route-distinguisher-vs-route-target/

NEW QUESTION 471
- (Exam Topic 1)
Refer to the exhibit.

snmp-server community ciscotest?
snmp-server host 192.168.1.128 ciscotest
snmp-sever enable traps bgp

Network operations cannot read or write any configuration on the device with this configuration from the operations subnet. Which two configurations fix the issue?

(Choose two.)

A. Configure SNMP rw permission in addition to community ciscotest.
B. Modify access list 1 and allow operations subnet in the access list.
C. Modify access list 1 and allow SNMP in the access list.

D. Configure SNMP rw permission in addition to version 1.

E. Configure SNMP rw permission in addition to community ciscotest 1.

Answer: BE

NEW QUESTION 472
- (Exam Topic 1)
Which command allows traffic to load-balance in an MPLS Layer 3 VPN configuration?

A. multi-paths eibgp 2

B. maximum-paths 2

C. Maximum-paths ibgp 2
D. multi-paths 2

Answer: C

Explanation:
Reference:
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/sw/5_x/nx-os/mpls/configuration/guide/mpls_cg/mp

NEW QUESTION 473
- (Exam Topic 1)
Refer to the exhibit.

Spoke# show dmvpn

TunnelD, Type:Spoke, NHRP Peers:2,

# Ent Peer NBMA, Addr Peer Tunnel Add State UpDn Tm Attrb
1172.18.16.2 192.168.1.1 UP 01:05:356 8§

1172.18.46.2 192.168.1.4 UP 00:00:25 D
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An engineer has configured DMVPN on a spoke router. What is the WAN IP address of another spoke router within the DMVPN network?

A.172.18.46.2
B. 192.168.1.4
C.172.18.16.2
D. 192.168.1.1

Answer: A

Explanation:
From the output we can see there are 2 NHRP Peers. The first one with the NBMA Address of 172.18.16.2 and the “Attribute” (Attrb) of Static (S) so we can

deduce it is the Hub device. Therefore the second one must be the remaining Spoke device with the attribute of Dynamic (D).
HeadQuarter

P
- Tunnel addross:
192 168.100.254

NBMA addrass
a4, 44 44 4

-4
Tunnal addross p— Tunnel address

192.168.100.1 192.168.100.2
NBMA address NEBMA addross
419,91 1 : — 12.12.12.2

--> S - Static, D - Dynamic, | - Incomplete N - NATed, L - Local, X - No Socket

# Ent --> Number of NHRP entries with same NBMA peer
NHS Status: E --> Expecting Replies, R --> Responding, W --> Waiting UpDn Time --> Up or Down Time for a Tunnel

Interface: Tunnell, IPv4 NHRP Details Type:Spoke, NHRP Peers:2,

# Ent Peer NBMA Addr Peer Tunnel Add State UpDn Tm Attrb
--------------- 144.44.44.4 192.168.100.254 UP 00:03:40 S
112.12.12.2 192.168.100.2 UP 00:03:20 D

NEW QUESTION 474
- (Exam Topic 1)
Refer to the exhibit.

R1i#show policy-map control-plane
Control Plane
Service-policy input: CoPP-BGP
Class-map. BGF (malch all)

2716 packets, 172071 bytes
5 minute offered rate 0000 bps, drop rate 0000 bps
Match: access-group name BGP
drop

Class-map: class-default (match-any)
5212 packets, 655966 bytes
5 minute offered rate 0000 bps, drop rate 0000 bps
Match: any

What is the result of applying this configuration?

A. The router can form BGP neighborships with any other device.

B. The router cannot form BGP neighborships with any other device.

C. The router cannot form BGP neighborships with any device that is matched by the access list named “BGP”.
D. The router can form BGP neighborships with any device that is matched by the access list named “BGP".

Answer: C

Explanation:
after bgp session are UP.I configured the CoPP to drop 10.3.3.3 bgp traffic (R3). R3 bgp traffic that matched the ACL 100 is dropped and the state is in IDLE

access-list 100 permit tcp host 10.3.3.3 any eq bgp access-list 100 permit tcp host 10.3.3.3 eq bgp any
|

class-map match-all class-bgp match access-group 100
!

policy-map policy-bgp class class-bgp

drop

!

control-plane

service-policy input policy-bgp

!

The 10.3.3.3 neighbor goes to IDLE
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NEW QUESTION 479
- (Exam Topic 1)
What is a limitation of IPv6 RA Guard?

A. Itis not supported in hardware when TCAM is programmed

B. It does not offer protection in environments where IPv6 traffic is tunneled.
C. It cannot be configured on a switch port interface in the ingress direction
D. Packets that are dropped by IPv6 RA Guard cannot be spanned

Answer: B

Explanation:

Restrictions for IPv6 RA Guard

® The IPv6 RA Guard feature does not offer protection in environments where IPv6 traffic is tunneled.

® This feature is supported only in hardware when the ternary content addressable memory (TCAM) is programmed.
® This feature can be configured on a switch port interface in the ingress direction.

® This feature supports host mode and router mode.

® This feature is supported only in the ingress direction; it is not supported in the egress direction.

® This feature is not supported on EtherChannel and EtherChannel port members.

® This feature is not supported on trunk ports with merge mode.

® This feature is supported on auxiliary VLANs and private VLANs (PVLANS). In the case of PVLANS, primary VLAN features are inherited and merged with port
features.

> Packets dropped by the IPv6 RA Guard feature can be spanned. Reference:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipv6_fhsec/configuration/xe-16-10/ip6f-xe-16-10-book/ip6-r

NEW QUESTION 480
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